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Subject : GE_Q01-Q10_PGTPHY
Question ID:- 1

ANNIHILATE
The word similar in meaning to the above word is :
(1) Consume

(2) Hesitate

(3) Destroy

(4) Blame
Options:-

=1, Option ID :- 1,
= 2, Option ID :- 2,
=« 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

TRANSIENT
The word opposite in meaning to the above word is :
(1) Perpetual

(2) Stiff

(3) Meaningless

(49) Noble
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3
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Stop playing :
Identify the Part of Speech of the underlined word.
(1) Participle

(2) Noun
(3) Conjunction
(4) Interjection

Options:-

«1, Option ID :- 9,

= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

I expect to get a prize.

Choose the option in which the above sentence has been changed into Passive Voice :
(1) A prize has been expected by him

(2) A prize is expected by me

(8) Itis expected by me to get a prize

(4) A prize is expected of me

Options:-

«1, Option ID :- 13,
= 2, Option ID :- 14,
=« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Ram said “Hurrah ! I have scored a goal.”

Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Ram told Hurrah that he had scored a goal.

(2) Ram exclaimed that he had scored a goal.

(3) Ram exclaimed that I have scored a goal.

(4) Ram exclaimed with joy that he had scored a goal.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,
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= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

GET IT ON
Google Play

Question ID:- 6

sentence.

(A) manners produced

(B) a favorable impression
(C) onme

(D) his courteous

(1) (A) (B) (©) (D)

(2 (D) (©) (B (A)

(3) (D) @A) B ©

4 (B) (©) (D) (A)
Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
= 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Rearrange the following jumbled words/phrases into a meaningful and grammatically correct

Question ID:- 7

Identify the part of the following sentence that has an error in it :
Cannot one do what one likes of his own accord ?

(a) (b) () (d)
() (a)
(2) (b)
(3) (o)
(4 (d)
Options:-

«1, Option ID :- 25,
= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8
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I have been sleeping all night.

Identify the tense in the above sentence.
(1) Present Continuous

(2) Simple Present

(3) Present Perfect Continuous

(4) Present Perfect

Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option 1ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the given sentence by choosing the correct option out of the given ones.
[ am happy him helping me.

(1) to; for

(2) with; for

(3) for ; with

(4) on;on

Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Fill in the blank in the given sentence by choosing the correct option out of the given ones.

The patient is now free danger.
(1) with

(2) off

(3) from

(4) without

Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,
= 4, Option ID :- 40,
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Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTPHY

Question ID:- 11

el feu 7T T=reT Rt ugeRt walifereh St fawea st wras shifea-
7E 91d & W o =fen fF &n sfaa ofr erfem #, gv i sy 8, ey oiv sifve A faas 38 1 v
s &1 SURT 1S 99 I ©, 79 85 WY Y U8H o7 © foh S99 # 31=s1 e W & 2 eAN fads o

ST SAI1 ©, BH 981 U 9l SHE B Teld 1A, sremgul iR wEar | o fRsi &% e § 3usH
et AHfgE sTenifa ¥ o9 9n &1 fadw # enar, enfAie F ey & WY e ¢

fode 4 aread & ¢

(1) &= = faty &
(2) =R R Y Al

(3) HE-TTEAd T HA BT
(4)  YYI-3AYY F TG S0
Options:-

=1, Option ID :- 41,

= 2, Option ID :- 42,

» 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

et feu TTu weriyr Rt ugeRt waitie sfea fawen @ wae Fifea-
7g 919 g4 W oA =fen o 7 sfea ofr s |, gv oiR sy #, T v sifre  faas 9 %1 5@
a3 gard Ared 59 S €, 9 5 =Y Y Upd o € 5 vl o s e 82 wow faass T

ST SAw1 8, BH 981 I 9| SHE B e 9w, sragul o wEar | i fBRmsl % e 9 3usH
e HHTE Swrfa & o= S €1 fose o e, stenfite & vy o e Fedn € |

BH S AT T, SHHT SMER ¢ :
(1) %
(2 T
(3) Sfem
(4) foas
Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,

= 3, Option ID :- 47,
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= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

el feu 7T T=neT R ugeRt walifereh St fawea st wEs shifea-
7E 91d & W o =fen fF &n 3faa ofr erfem #, yv i sy 8, ey oiv sifve o faas 38 1 v@
Torerer &1 SUR IS o7 I ©, 9 85 WY Y UBH o7 ¢ foh S99 9 3181 B W & 2 eAn faaes o

STo1 SAI1 &, B 981 U FIEl | SHE B Teld 1A, eyl iR wEar | o fRmsh &% e 9 3usH
et AHfgeE T9nifa ¥ o9 9n g1 fadw w1 onam, el F ey % Wiy Held ¢

HEAEw S 1 9RO & S
(1) 7Tad I%ard

(2) AU SHABR

(3) e e

(4) gy faEm
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

et feu T TeriyT Rt ugeRt Waitie sfea fawen @ waE Fifee-
7E 91d & W o =fen iR &1 sfaa ofR enfem H, v iR sy 8, g oiv sifre A faas %8 1 v
Tordres &1 SURT IS &9 I ©, 9 68 W9 Y U84 o7d ¢ foh S99 3 31=81 o W & 2 eAN fads oy

STo1 SAI1 8, BH 981 I JIfEl )| SHE B el A, sregul iR wEar | o fRsh &% e 9 3usH
et AHfgE sTenifa ¥ o9 9n &1 fadw w1 enar, erfAie F ey % WY e ¢ |

I = WYY Fewdl ¢ 2
() 9o 3 1Y

(2) T &R s

(3) fode sl swerfrfem
(4) 3fa oir sfea

Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,
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= 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

B e B i x| M e [ e | M 2

(1) FAEIHS e

(2) UHETEE A

(3) T e

(4) ST AT
Options:-

«1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

(1) afet
(2) aRi
(3) anfet
(4) Sielg
Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

‘Tovife’ T T 1 I T
(1) ©s &°E

(2) fou ww™

(3) HIEH HHH

(4) THHURT HEH
Options:-
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«1, Option ID :- 65,
= 2, Option ID :- 66,
» 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

(2) =3
(3) =rd
(4) E
Options:-

«1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

HH7 iy df e .
(1) fem=r

(2) HerH

(3) HIER

(4) fe=me™
Options:-

«1, Option ID :- 73,
= 2, Option ID :- 74,
=« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
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“Teqar H1E | R T’ g o Wit ofn H R ©

(1) 0 HFH
(2) HYSH HRH
(3) SAUEH HRH
(4) Y HH
Options:-

«1, Option ID :- 77,
= 2, Option ID :- 78,
=« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTPHY

Question ID:- 21

Consider the following statements :

(a) The president of India is elected by an electoral college in accordance with the system of
proportional representation

(b)  The electoral college consists of only the elected members of Lok Sabha, Rajya Sabha and
Vidhan Sabhas

Choose the correct answer from the codes below :
(1) only (a) is correct

(2) only (b) is correct

(3) both

(4)

(a) and (b) are correct
both (a) and (b) are wrong

Trefefed FaAi W fa=r #ife
(a) wa F el 1 Faren amiar wfaffie yorel % oFER v fates tea g s @
(b) frafees dea o waa drray, T SR faarmmeti & Haffaa ager en §

e foT T e ¥ el I 1 I e
(1) e (a) T
(2) e (b) WE®

(3) (a) 3 (b) SFI, T &
(4) (a) R (b) S Terd §
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,
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« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

‘Mission Indradhanush’, a Government of India initiative relates to which of the following ?
1) literacy programme

2) platform to promote cultural diversity

3) wvaccination drive

4) livlihood scheme for members of the LGBTQ community

9 HFR 1 Fovr sy’ frafafaa § & foras ot § & wa 22
(1) HT&Ra FEw

T Sl A 2T Y HHEE % HeEl o oty strsiiferehn s

Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Consider the following statements :

(a) Warren Hastings was the first Governor-General in India to have faced an impeachment
trial in the British Parliament

(b) Warren Hastings was acquited in the impeachment trial

Choose the correct answer from the codes below :

(1) only (a) is correct

(2) only (b)is correct

(3) both (a) and (b) are correct

(4) neither (a) nor (b) is correct

s

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220423803120... 10/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

Trefefad FuAi X fagr #ifag
(a) @A efEm fafew Hug 4 warfywEm fa=ro 1 9 8l 9 & 98 TaHL S o
(b) &R e i1 FerfaEm fommon § =it e fozn = o)

e feu T e § HEl I 1 I S
(1) 9 (a) T8 2

(2) Had (b) TR 7

(3) (a) ¥R (b) 3T wel &

(4)  (a) 3R (b) ST H F B off v 7 ¥

Options:-

«1, Option ID :- 89,
= 2, Option ID :- 90,
» 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following is not a quality of a non-metallic mineral called Mica ?
(1) Itsplits into thin sheets

(2) It has di-electric strength

(3) Itis not resistant to high voltage

(4)

4) It has low power loss factor

frefafea 9 4 =0 9% T tuifas gfbs &t fagma 78 ¢ ?

(1) = Tael vie § fawnfaa & st &

(2) TEH WIEEA (SR-geifes) W gl @
(3) UE = drees & gfa wfadiedt 7€ g @
(4) 35Y foe@ * @9d HY B 2 |
Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
» 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
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Which of the following statements is incorrect about the European Union (EU) ?
(1) EU creates a single market for its member

(2) EU has been awarded the Nobel Peace Prize

(3) Britain's exit from EU was through a Referendum

(4)

4) Slovenia is the only EU member which has not adopted common currency of EU

Y9 €9 (3 4) F g H I | FF H AR 2

) U o ST Hewd & forg et (FTE) SIS S ©

2) %7 Ao wifd gEeR yer fEa e

) Toe U= SHd e o W1EE H S g H 9l g3 o

) TR, Y W TR TH 959 § TSR € o A (i) T R A SO 7

Options:-

«1, Option ID :- 97,
= 2, Option ID :- 98,
« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Which of the following statement(s) is/are correct about manure ?

(a) TItis an organic substance obtained from the decomposition of plant or animal wastes
(b) It improves soil texture

() It reduces the water retaining capacity of the soil

Choose the correct answer from the codes given below :

(1) Only (a) and (b) are correct

(2) Only (a) and (c) are correct
(3) Onlv (a) is correct
(4)  Only (c) is correct
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aR % 9n H fefafed § | wF 978w 98 €2

(a) T G Sreren Y STAfre o eEe ¥ 9w U Sy §
(b) I T2l 1 aEe § gur & @

(c) uE fHedl &1 S URVI &THal I FHH HI B
ﬂﬁ%ﬁqﬁﬁﬁﬂéwaﬁ:

(1) (a) 3R (b) WET &

(2 ( () TSN €

(3) (a) T T

(4) W (c) TET ®
Options:-

«1, Option ID :- 101,
= 2, Option ID :- 102,
« 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

Which constituent of petroleum is used for road paving/surfacing ?
(1) Bitumen

(2) Paraffin wax

(3) Naphthalene

(4) Coke

YAfemy F $H 9 U2F ) ' ge% weu faur/ e fasn’ & fau wEm § @ e g ?
(1) fagfm

(2) Tufte dag

(3) TeTed

(4) ik
Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28
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Who among the following players won the FIFA World Cup 2022 “Golden Boot” award ?
(1) Lionee Messi

(2) Kylian Mbappe
(3) Enzo Fernande
(4) Julian Alvarez

FI gFs *Y, 2022 § ‘Tiieed "2’ & YRR fefafad § § fre s ?

(1) ToaeT a==
(2) =ferEd Hary
() A
(4) SIfePH TeRs
Options:-

«1, Option ID :- 109,
= 2, Option ID :- 110,
= 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar’, 2022 in Telugu
language ?

(1) Pallipattu Nagaraju
(2) Siddhardha Kalta

(3) Narra Praveen Reddy
(4) Nanda Kishore

e e H e s ga WERR, 2022 TRE eREE T S ?

(1) wediZg TR

(2) Tagme e

(3) AR W& LEE

(4) e FREIR
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,
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= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

Which of the following options correctly represent the aspect ratio ?
(1) TItis the ratio of length of the screen to the height of the screen
(2) Itis the ratio of height of the screen to the sum of the length and height of the screen
(3) Itis a feature that is used to adjust the screen brightness
(4)

4) Itis a feature that is used to adjust the screen color composition

fafafad § | %= @ faweq g vee] &1 98 9 § fsfg & g2
(1) I ThiA I TaE IR BhiA HI Fa18 H1 FIT €|

(2) FE TR T FEE IR TR T AaS 2R B A ST § |
(3) ¥E THA I S it gardifed H3 H R B

(4) I8 BhH F 90 WEA (FeR FHINGYE) & GHESE g W ol ¢ |

2

Options:-

«1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PGTPHY

Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question
mark (?), in the given number of series.

3, 5,10, 14, 17, 23, 24, ?

(1) 30
(2) 31
(3) 32
(4) 33
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TH wal foshey =1 =39 &1 Sl fqu T g g@en | 351 Y2 =l Sl W 3R 9 fos () s/l =wE o |
3,5,10,14, 17, 23, 24, ?

(1) 30
(2) 31
(3) 32
(4) 33
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

Six friends Kamla, Tanu, Priya, Deepa, Vimla and Rashmi are sitting on the ground in a hexagonal
shape facing towards the centre of the hexagon. Rashmi is not neighbour of Tanu and Vimla.
Deepa is not neighbour of Tanu and Priya. Vimla and Tanu are neighbours. Kamla is in the
middle of Tanu and Deepa. Deepa is in the left of Rashmi. Who is sitting opposite to Kamla ?

(1) Deepa
(2) Kamla
(3) Priya
(4) Tanu

e Gefordl waal, 79, firn, <, e $ik s TF SeysTmR 9 TgHs % % w3 g Fh S W
31 & 1 e, o oI fawen =1 wSrdt 76 €1 <, 97 SR firn w1 uSh T &) faven ol a7 vSnd #)
FHAT, g7 AR <9 F o= 93 1S, W 9t @R 59 2

FHA & G hiF 3§ 2
(1)
(2) hHA
(3) Torm
(4) g
Options:-

«1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125
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Question ID:- 33

If North becomes South-East, East becomes South-West, South becomes North-West and West
becomes North-East, then what will North-West becomes ?

(1) North
(2) East
(3) West
(4) South

Ife ‘I & 19 ‘gfgm-gd’, ‘g’ o 1 ‘efam-ufem ) (g’ o5 e1e  stR-ufvem oiR ufiem @ a9y
‘sR-ud " foen | & @ Sw-ufesm @ sref s A 2

(1) W
@
(3) Uf=H
(4) <fEm
Options:-

«1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 2, Option ID : -130

Question ID:- 34

You are given a ques Hon and two statements numbered I and I each Contajnjng some information.
Decide which of the statements is/are sufficient to answer the question ?

Q: Who reached office late among Divya, Fatima, John, Piyush and Ashish ?
(I) : Divya and John reached together
(IT) : Fatima and Ashish reached together

(1) The statement [ alone is sufficient to answer the question while the statement II alone is not
sufficient to answer the question.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient to answer the question.

(3) Both statements I and II together are necessary to answer the question.
(4) Both statements I and II together are not sufficient to answer the question.
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= we we e o € forer @ wee-1 oin 1 fu o 31 e v § Fe S € E 2 ) 9w ol

HiTTT o6 oI AVE Y T ol S 4 o forw, qafe 8/ ?

q: feem, wifam, SiF, 9w SR sl § § e AiTEy o8 9 ugH ?

(1) : Te=n 3R S T 91 ugH |

(1) : hIfaeT iR SAmefre wek | uge |

(1) SThcl F¥H-1E U9 o1 3 ¢4 & fo e & siafeh 7hel FHoA-11 99 1 I <1 & foe mafe =&
7l

(2) oThel HUA-I & 9 o I & o ToIg ol @ Saifeh STkl she-1 W o1 St & & folg, v 781
2l

(3) U SR FA-IL S WY e W9 & S e o fau saves €

(4) UL ST HeA-11, ST Ay et off wee =1 IR S o fore v el €

Options:-

«1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the following figure, circle represents strong men, square represents intelligent men and triangle
represents tall men.

16 11
ﬁm\9

13

Which number represents strong men who are also tall and intelligent ?

(1) 4
2 7
3) 11
4 12
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Trfafad smfa #, g9 sl gEsl, @i gfgam geu oiv B d« gel @1 gfafafae s €

I H W 37 Fermel JEN %l g ¢ S o SR gieHe of €1

O 4
(2) 7
(3) 11
(4 12
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Subject : CL_Q36-Q40_PGTPHY

Question ID:- 36

Which of the following devices converts human-understandable instructions and data into a form
that computers understand and process ?

(1) Printer
(2)

(3) Input devices
(4) Output devices

Monitor

frefafaa § @ #9 d feary gea-gre@rg el 3R oS- # wh U8 B9 § ufEfdd s @ 5l
FPS T 3 UHY L Geh ?

(1) fHex

(2) W

(3) ¥ feamw
(4) 31=eye feamEyd
Options:-
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=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

DVD stands for :

(1) Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4)

4 Discrete Versatile Disc

1 & € (DVD) 1 319 § :
(1)  Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4) Discrete Versatile Disc

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is not an example of popular web based search engines ?

(1) Bing
(2) Edge
(3) Yahoo
(4) Google

foeferfiam & & % o1 0 Al 39 s = g w1 S 1@ ¥ 2
(1) T (Bing)

(2) TS (Edge)
(3) ¥E (Yahoo)
(4) T (Google)
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Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

This is a type of malwares that we download onto our smartphones, disguised as useful apps or
games, but usually take control of our smartphones to damage and steal our data.

(1) Virus

(2) Spam

(3) Trojan
(4) Phishing

g 39 YR W Y a0 o WREEE | U ST U O i F §9 H TR i © fhg 9%
TAR TR T {0 35 ST €, SR ST 1 d6ig o1 § SR 3 gU e B |

(1) dPRE (Virus)

(2) ¥MH (Spam)

(3) 219 (Trojan)
(4) T®f¥ (Phishing)
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

Which of the following can’t be a valid email id ?
(1) An email id having multiple ‘@’

(2) An email id having multiple *." (dots)

(3) An email id having multiple " (underscore)
(4) An email id having multiple digits (0-9)
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frefafes § § #m @ v fafuar= -9 o € 72 & w8 2
(1) An email id having multiple ‘@”

(2) Anemail id having multiple °." (dots)
(3) An email id having multiple *_’ (underscore)
(4) An email id having multiple digits (0-9)

Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
= 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTPHY

Question ID:- 41

What is the role of PTA in school ?

(1) Regular monitoring of student activity

(2) Act as bridge between school and community
(3) To support school principal |
(4)

4 To guide the children in co-curricular activities

Toremem § sifvsmrees- e | @t 0 fae € 2
(1) Toene™ % wEsan # Fafa st
(2) Tomner SR UHEM % "9 Hg 0w
(3) Toerer = Wr=md #i FEdr YeH HE
(4)

2

4) HE-Urea=Eg] FEFAT H STk il qUIEYA

Options:-

=1, Option ID :- 161,
« 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

What is the best way to enhance learning ?
(1) by good communication

(2) through A.V Aids

(3) through activity method

(4) use ICT tools and digital game based method
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afirm § sifugfs w5 = gafam ol #1572
(1) 399 F=H90 & Hqeam § At

(2) oI-9F ITH o HIAH H W

(3) HrEwa ygfa | ey
(4)

o
4) =R Ht A eI festes i snunfia ugfa 9 sifumy

Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

What is the purpose of “assessment of learning’ ?
(1) To measure amount of learning

(2) To judge the potential of the child in subjects
(3) Provide evidence of learning and gaps to improve
(4) To promote to next class

‘saferq & sTeRe | o R WIS © 7

(1)  AferTd & 9fEro =6 JroE |

(2) Tafu= fawdi § s 1 &9al & Had ° o o)

(3) eAferm &R sEfEm (Fra) &1 9Aw WA w1 I e § gER 8w |
(4)  STTel e H UHE R | (STl Hell & foe UFd )

Options:-

«1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44
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What is the significance of CCE in classroom ?
(1) The children will be evaluated in scholastic subjects

(2) Evaluation covers all parametres to measure personality development
(3) Evaluation of scholastic and co-scholastic areas
(4)

4 Examination are flexible

el B Ted 2R SATI% etk (W E) 1 9 Tee § 2

(1) et o 3199 & fawal 1 godisd 2 |

(2) Yedishd ¥ wferca T & Ao Gee geft wods wfae €1
(3) HAPFA 3R He-AATA &3 ] oA

(4) e AEER €|

Options:-

«1, Option ID :- 173,

= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

Which one of the following is visual instrumental material ?
(1) Text books

(2) Charts
(3) Calculators
(4) Black Board

Fr=fafea § 9 o gvmm FifE (Fe) 99 g2

(1) TeTgEH

(2) =

(3) HEHe

(4) ¥H T
Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
= 3, Option ID :- 179,
= 4, Option ID :- 180,
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Answer Given:- 2, Option ID : -178

Question ID:- 46

What do you mean by experimental learning ?
(1) Writing new information

(2) Learning by doing

(3) Act of memorizing
(4)

4)  Frequent drilling

YT SAferTH ¥ ST @ aead § 2
(1) = g fera

(2) RSO F HiemH 9 SR
(3) TR HET H HHE

(4) EHER Iy

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

Which one of the following factor affects learning ?
(1) Teacher’s personality
(2) Principal’s dynamism
(3) School ambience
(4)

4) Peer pressure

Treifera © | fored atferm yenrfeam 2an € 2
(1) 31EAeh 1 SAfKT

(2) = T faeiiern

(3) foremer =1 uftaw (wwien)

(4) HHwEE o

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
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= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

The following would form better learning space in school :
(1) Class room

(2) Library
(3) Digital Lab
(4) Sports Field

Freifera | foamera o SR tfarm ufEe 1 gem & -

(1) e
(2) YEdAHTEE
(3) fesfiea &=
(4) T F HEH
Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Cognitive learning is :

(1) Active style of motor muscles
(2) Reflection of emotional feelings
(3) Maximizing Brain's activity

(4

Enhancing internet in subject

F[E[Fﬂ?ﬂ'%?ﬂﬁmq%

(1) Hoe 9feel (Hiet gged) =i 9iFa el

(2) wiafTER wEEIsl 1 gidtEe

(3) HIETSR % FHHATT HI AR WL T qe
(4) o & gafem geve dadA

Options:-
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«1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Why school is a miniature society ?

(1) Itis a group of diversified people.

(2) Particular group of humanity with shared customs.
(3) The students represents cross section of society.

(4

Hetrogenous group of students.

A ] 91 HEEd ¥ 2

(1) = fafaumme g=yfa % @rll @ 99 T

(2) STE 9T | STaTer @l o fafire e g

(3) faenedf wors % fafi= ot =1 gfaffue #=xd €
(4) Tomnfere = faws gz 81

Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

The qualitative change in personality of child refers to :
(1) Growth

(2) Invisible change

(3) Maturation
(4)

4 Visible Change
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ATt o SAfarred # oTes uitEde & aread freiteg § § feed 22
(1) fa=mE
(2) IgER UfE
(3)  HfqeReral
(4) T¥IEE gREd

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

What is the role of development in child psychology ?
(1) It helps in fixing goals.

(2) It determines readiness for learning.

(3) It determines behavior.
(4)

4 [t focuses on memory.

a1 HeifawH § faer i @ fie 7 2

(1) =54 wea fufo § gerar foed 21

(2) =99 sifm % fou qewar staEniE Bt T
(3) =9 w@er fwifd 2 gl

(4) o9 wfa W T foar S

Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

The socio-emotional learning is the process of
(1) Self-discipline
Development of linguistic ability

4

(2
(3) Self development
(4) Developing self-control
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qraifser-giafire i fa=ifed § 9 frgs gwa &2

(1) SATH-STRIEA

(2) TRl Arga fae

(3) omeH-fos

(4) ercH-fEE foashfad e
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

Which psychological factor helps learning ?

(1) Age

(2) Sleep

(3) Motivation

(4) Internet

H[ | TREATIE ek Ty § GeEE 2
() &g

(2) f=

(3)  SAfaER

(1) TR
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55
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Regular meeting of parents and social workers in school would ensure :
(1) Home school continuity.

(2) Proper understanding of the teachers.

(3) Reducing communication gap between students and teachers.

(4)

4 Co-operation to enhance school resources.

Toemem § sifusmaest it Amfsrs s #1 i Se% 9 0 gfafeg @m 2
(1) e femmer™ =T [ |

(2) STEAYERT kI SfEd ES|

(3) Tomnfefai oiX S7eargshl & HeA HYW STAUE hl FHH FHEA|
(4) Toerem =1 HEHE seH H Hed |

Options:-

«1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PGTPHY

Question ID:- 56

Do the ICT tools in classroom threaten the teacher’s role ?

1) Notatall, if teacher is updated in ICT sKkills.

2) Yes, certainly it poses threat.

(1)
(2)
(3) Makes no difference for teachers.
(4)

4) Teacher can use traditional methods of teaching.

T T H G SR AR T ¥ ST e 8 @ S w1 i w9 & ST 82
) foega 78, afg soas 1 SIS STER S T ST T4 § |

2) @, 398 fafvaa w9 § s = srgfaen 2t 8

(3) TEH AATH] W HIE THH Tel TSl B

(4) FEATTH FEAYH HI qRIRE foAfE w1 3T = g €

Options:-
=1, Option ID :- 221,
= 2, Option ID :- 222,
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= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

GET IT ON
Google Play

Question ID:- 57

How students” feedback on teaching would help the teachers ?

It would certainly refine quality of teaching.
Students would be biased.
Teachers does not require feedback from the children.

It may have negative impact on teaching.

AT & 9 H faenfeai ¥ ure wigss oreage & fau Y wR e g ?

(1) 359 ffvea 9w seEres &t Turesn gk 2er

(2) Toremelf geam = |

(3) AT ! SIeThi ¥ WIS o7 i SE¥IHal T8l Tl S
(4) SHH A W THNHE YHE TS Hahl @ |

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

1
2
8

(
(
(
(4

)
)
)
)

Question ID:- 58

What is major challenge in ICT applications in classroom in rural sector ?

Lack of furniture in lab
Lack of trained teachers
Lack of power and internet

Lack of mobtvation
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T &3 | el § oMEHE STWEN St g T 1 R 2

(1) WHFTET | =L 3l S19E

(2) wferfem—sTeATaehl =1 sH

(3) fasteft iR gewie &1 s19ma
(4)

ARTYTT 1 9E

Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

What is the role of lesson plan in classroom ?
(I) Meets the administrative requirement
(2) The teachers cannot deviate schedule
(3) It helps achieving learning outcomes
(4)

It assists the teachers to evaluate the learner

eq | 9T Ars Rl i &2

(1) 399 yomafs aden gi & 81

(2) e fruifta drege (eragE) & faafea 78 & g §)

(3) THY sAfermy uftomy i e H Herd foer €1

(4) T AR 1 AFTIHA F GeAiwT FH ° e (oo g

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60
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A student feeds dogs in school during recess period, comes under :

Designed curriculum

(1)

(2) Moral education
(3) Hidden curriculum
(4)

Overt curriculum

(1) sifyyepfead wreasry

(2) Ao foen

(3) Towmgem (F==) wSTwe
(4) fogw TRy

Options:-

«1, Option ID :- 237,

= 2, Option ID :- 238,

= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

The famous example of classical conditioning of Ivan pavlov on dog refers to :
(1) Connectivism
(2) Behaviorism
(3) Cognitivism
(4)

4 Constructivism

T UTeEE g1 ¥ R R T FenfEst (UEi) STgad o UiHs SeRl §

(1) HHFAR
(2) THIERA
(3) HAHSAEG
(4) TEATER
Options:-

=1, Option ID :- 241,
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= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62
What is the basic principle of constructivism ?
(1) Knowledge is built on existing knowledge
(2) Social learning
(3) Contextual learning
(4)

4 Motivational learning

Teifera # 9 T=AER %1 gayd fagia @ €7

(1)  FH = fmio foemm 79 = & ?
(2) Te=mem | HFfem

(3) Hema sifgmR

(4) STITTEE AT

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

The annual instructional plan would ensure :

(1) Effective classroom transaction

(2) Wholesome teaching

(3) Accomplishment of learning outcomes
(4) Preparation of unit plans effectively
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aifefer fregon s § Freiferd § § e gifead g ?
(1) 9! e HeFeer
(2) Tedeil s
(3) ST gfom i it
(4) Ffe WH F1 99 @1 H TR FHEA
Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

The following is the tool to achieve intended learning outcomes :

1) Annual plan

2

Unit plan

4

(

(2)

(3) Lesson plan
(4) Audio visual Aids

freifera & 9§ = senfaa s1ferms oftomy wre e & EEE

(1)  =nfieR Frse

(2) I wH

(3) U FASH

(4) 9= T IUH
Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65
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The diagnistic assessment aims at ;

(1) finding out the strength of the child.
(2) remediating learning,

(3) knowing level of learning.

(4) measuring emotions of the child.

e geaie 1 WY ¢

(1) =TT % Yool 98 = 9 oAl

(2) AT H YA A R W HIEE S
(3)  AEATH T T A

(4) @TeTeh i WIEHIS] 1 A

2

Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 66

The open style of questions in exam would test :
1) Rote memory

3

(1)

(2) Applied aspects
(3) Critical thinking
(4)

4) Scientific temper

wfien 8§ geA = ge Gedt Freifera | 9 o wleror gm ?
(1) =He® FTF AR HT

(2) ST uE

(3) eTelrEARAS T

(4) s g (s

Options:-
=1, Option ID :- 261,
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= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

GET IT ON
Google Play

Question ID:- 67

The main aim of classroom observation is :

(1) to get feedback on teachers from students,

(2) to get introspection by teachers,

(3) to fulfil administrative requirements.

(4)  to assess teachers ability.

e YTl (STecieR) 1 Y& 92 ©

(1) Toenfef=i & syeamoehi % 9 | wigdw (Ufayfie) ure &
(2) eI BT SATCH SO A

(3) W[ STUETSA! T G HEAT

(4)  1EATIRT I AT H oAl
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

(1
(2
(3
(

4

)
)
)
)

Question ID:- 68

Collaborative group work is an example of

Divergent thinking
Activity based learning
Constructive Learning

Cognitive learning
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TR drfes & feifed § § frue sem & ?
(1) afge o
(2) =PIwEY AU A
(3) TEAIHE AT
(4) HaAARHS A

Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69
The practical experience of the child would enhance :

1) Learning

2

) Thinking
3) Feeling
)

4 Interest

(
(
(
(

AT o AT S9d o feifea § § formet sifvafe grft 2

(1) ey
(2) fE@=
(3) AFHA
(4) afef=
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70
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What is inclusive education ?

1) Special education for disabled

3

(1)
(2) Education to all the children irrespective of sex, caste, creed and disability
(3) Women education

(4)

4 Integrated education

Tererft e = 2 2

(1) =i 519 & ferg fordm fan

(2) Tem, sifd, dor SR 5. veaan = = @ o 9 araei & fag fosn
(3) wfeensi =i fan

(4) THiEd T

Options:-

=1, Option ID :- 277,

« 2, Option ID :- 278,

= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTPHY

Question ID:- 71

Dyslexia refers to :

(1) Inability to write
(2) Inability to learn
(3) Inability to speak
(4) Inability to see

Feweifeaan 4 21fydq 2 -
(1) @ HeTw

(2) eferma sreEa
(3) ETE SHRTH

(4) 32 starmT

2

Options:-
=1, Option ID :- 281,

= 2, Option ID :- 282,
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= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

What is the major challenge in society dealing with stubborn children with restlessness ?
(1) Non-cooperation of parents

(2) Defective curriculum

(3) Lack of professional counsellors

(4)

4 Inefficient teachers

S99 BSl ARl o HoTaRR A H wel Al it ° | wen g ?

(1) sfquressi § wedm & fHer
(2) <Yl g
(3) AEHIHF WHYGTARA H HA9E
(4) SAHH AR

Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73

Low vision of child comes under :
(1) Intellectual Disability

(2) Physical Deformity
(3) Mental Disability
(4) Sensory Disability

wTereh 1 3oy gfte’ freifera B & frg Soit F ot &2

(1) difge fesamm

(2) v fapfd

(3) HEfEes fesAme

(4) Hadl feia
Options:-
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«1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

"Mood swinging’ of the child indicates :

(1) Low socialisation
(2) physical ailment
(3) Mental health issue
(4) Emotional issue

T 1 TR W FHeEfaE ufadq’ feifed § 9 fed fefog w5 82

(1) =7 FETSH

(2) ORI B

(3) HHIHE T i THE

(4) HHE FHEA
Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

Which type of leadership is suited to teachers improvement ?
(1) Instructional leadership

(2) Administrative leadership

(3) Bureaucratic leadership

(4) Management leadership
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AT H GURE & forg, freifed § & e v &1 g 3999 872
(1) SR A

(2)

(3) I g
(4)

Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,

« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

The quality of great school leader should be :
(1) Integrity

(2) Honesty
(3) Critical thinking
(4) Punctuality

TeH WA Aar 8 freifed § | = o 2 ey 2
(1) HAfsa1

(2) FHFE

(3) HHIEEAEE fHa

(4)

2

4)  HHFSS

Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
« 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

What should be the important principle of school organisation ?
(1) Democratic principle

(2) Principle of flexibility

(3) Child centered principle

(4) Teacher centered principle
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Tergamer e =1 Heeayul fagia = g =feu ?

(1) Sdifrs fEsid

(2) = 1 g

(3) T higd gl

(4) #AATIH hi=d g
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

Organisation of social service league by school helps :
(1) Bringing community closer to school

(2) Augmentation of school resources

(3) Maintaining cordial relationship with society
(4)

4 Children to develop social values

ThHe R Qe AfEE i 1 e fRu S % worasy i § | e e foord § 2
(1) THE™ =i faemem & i st geT @

(2) Tommera o HEIeEl 1 HaEHA

(3) FHS H HERyY HeY 9 v |

(4) @rersRl H HrHITST Hod Taskfyd e

Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79
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Which committee/commission recommended universalisation of free education for age group

6-14 years ?

(1) Kothari commission
(2) Sadler committee
(3) Sargent committee
(4) Hartog committee

freifera § | g wfufa/smim A 6 9 14 99 % & STl & fau [:90% e & gl ) famfm
=i off ?

(1) ISR STER
(2) HseR g
(3) Ersie wibfd
(4) =R Efafd
Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

The revised pattern of school education is :
(I) 8+2+2+43

(2) 5+3+3+4
(3) 10+2+3
(4) 5+5+3+2

et foran =1 gt wfoeg (Te) 2
(1) 8+2+2+3

(2) 5+3+3+4

(3) 10+2+3

(4) 5+5+3+2
Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
= 3, Option ID :- 319,
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= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : PHY_Q81-Q180_PGTPHY

Question ID:- 81

If energy (E), velocity (v) and force (F) are taken as fundamental quantities then the dimensions of

mass 1s :

(1) [Fv-2
2 [Fv
(3) [Ev7
(4) [Ev3

Ife = (), 371 (v) den 9 (F) =1 9 " faan s, 76 2e09H &1 fam €

(1) [Fv?]
(2 [Fv]
(3 [Ev—7
(4) [EvF]
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

The number of significant figures in 6.00023 kg is :

(1) 3
2) 5
3) 6
(4) 4
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6.00023 kg H H¥# 375 & HEN T :
(1) 3
(2 5
(3) 6
(4 4
Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

A viscous liquid of density p is flowing in a tube of radius r with a speed v. The Reynold's number
Ris
k

R= =%
prv

k is a dimensionless constant. X is:
(1) Viscosity

(2) Surface tension

(3) Acceleration due to gravity
(

)
4)  Pressure

T p T &l 99 2a fordlt ¢ B &t afeen & 91t v 4 vaifed & w2 Wieg =R, €

R= XX
prv
72l k U fommdm fzeis 81X ' -
(1) 9
(2) U= dE
(3) TEETE &L
(4) <&
Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
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= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

A point object is moving with uniform speed v in a circle of radius R. Let n be the frequency of its

motion. The acceleration of the object is :

(1) =2n?R

(2) 2w2n2R

(3) 4m*n’R

o (3]s
n

e fagfera fave fw=n R & fordt 9@ § uaemm =@ v & faae 21 3fE g5en! 7fd &t sigfan @, @139
foug &1 @R € .

(1) =2n?R
(2) 2w2n2R
(3) 4m*n’R
mv 2
(4) (?) R
Options:-

«1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,

=« 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85
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The position x (in meter) of four objects A, B, C and D are given by following equations where time

tis in second :

(A) x=-5.04+2.0 2
(B) x=-50+20t¢
(Q x=-20¢6

(D) x=2.0 t+4.0 t2

Which of them is moving with a uniform speed ?

(DA
(2 (B)
3 ©
(4) (D)

=R fqugi A, B, C 3R D =i fRafd x (e #) = fou o weiiemoll gra goife =t €1 @@ ¢ §vs | )
(A) x=-5.0+2.0 ¢

(B) x=-5.0+2.0t

(C) x=-20¢

(D) x=2.0 t+4.0 ¢

T H R 1 fave w 9ue 9e 9 feee 2

(1) (A)
(2 (@)
G ©
4 (D)
Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86
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The velocity v(in m/s) of an object changes with time t (in second) as
v=5.0+05 t2
The average acceleration of the object for the duration t=1.05 to t=4.0 s is :

(1) 1.5 m/s?

(2) 25 m/s?
(3) 3.0 m/s?
(4) 3.5 m/s>

foredfl faue &1 971 v (m/s §) 999 ¢ (Fve H) & W9 A= fou eqan uftafdd €1 @ 2
v=>5.0+0.5 ¢

I S0 t=1.0s W t=4.0s ¥ 37 fave =1 ofmd =2 ¢

(1) 1.5 m/s?

(2) 25 m/s?

(3) 3.0 m/s?

(4) 3.5 m/s?
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87
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- —
Consider two vectors A and B as given below

= N A
A=3i+]j
— A A
B=1i+3]

a8 M
where i and j are unit vectors along x-axis and y-axis respectively.

- -
The angle between vectors A and B, when their tails coincide is :

o o

o 7SR e vt 3 - erfen v wlew #)

A SR B % e 1w i, SR 3 e T §
1

0 o ()

o = (3
o (8

o w3
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Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

—
A small ball is projected from (0 m, 0 m) in x-y plane at t=0 s. Its velocity v (in m/s) at t=2.0 s is

— A~ A A A i
v =407 +10j. Here i and j are unit vectors along x-axis and y-axis respectively. The time of

flight of the ball is (take g =10 m/s?).

(1) 30s
(2) 455
(3) 6.0s
4) 75s

forelt BIeT Tig & x-y 9 H FHF =05 T (0 m, 0 m) ¥ F&TGT fa1 720 & 59 H99 t=2.0 s W a1

?(m/Sﬁ)ng = =4{]?+1U? 7 s ?W x-3181 SR y-3187 % STfEY Ui Tfew ¥
39 718 %1 3F7 F1A ¢ : (g=10m/s? TH)

(1) 3.0s
(2) 45s
(3) 6.0 s
(4) 755

Options:-

=1, Option ID :- 349,
« 2, Option ID :- 350,
= 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89
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Rashmi is cycling on a level circular road of radius 12.5 m. The coefficient of static friction between
the tyres and the road is 0.2. The maximum speed with which she can cycle without slipping is

(take g=10 m/s?) :
(1) 1.0m/s
(2) 3.0m/s
(3) 5.0m/s
(4) 7.0m/s

9 12.5 m 0 % U Tae ada Ar W SEfEd Fe W § 1 Tew SR 2l % o9 wifaw = g
0.2 ¥1 a8 AAferan =re fory a7 for fraer aifere = el & #1 € @ (g=10 m/s? efife)

(1) 1.0m/s
(2) 3.0m/s
(3) 50m/s
(4) 7.0m/s
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

A boy (mass 55 kg) stands on a weighing scale in a lift which is moving downwards with a uniform
acceleration of 4 m/s2. The reading on the weighing scale will be (take g =10 m/s?) :

(1) 165 kg
(2) 33kg
(3) 385 kg
(4) 77kg
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HIE AGH (M 55 kg) 4 m/s? % THFHA @10 § = =1 IR i et feroe # dra-ardt w @er 2
?ﬁﬁ—mﬁﬁlqﬁﬂfﬁ%:(g=10 m/s? HIfSIT)

(1) 165 kg
(2) 33kg
(3) 38.5 kg
(4 77kg
Options:-

«1, Option ID :- 357,
= 2, Option ID :- 358,
« 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

- —
Two forces F, and F,, given by
— A = =k N
F = (20N)i and F, = (15N)]

" A
act simultaneously on an object of mass 10 kg. Here i and j are unit vectors along x-axis and

y-axis respectively. The acceleration of the object has a magnitude and it makes an
angle of with the x-axis.

3
(1) 2.5 m/s? tan_l(z)

(2) 5.0 m/s? tan~!

@ | W=

)
)
)

a5
(3) 25 m/s? tan~ 1[
[

W | =

4) 5.0 m/s2, tan—!
(4)
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10 kg ZH 3 Frelt five W waFmy FPRA S 99 F, SR, 59 VR -

E = (20N); 3E, = (15N)]

RE ?aih'} A x-3E AR Y- % AW Ui wigw €1 fuve & @R o afe SR @ g -
H ST T R0 H HH FA: E

(1) 25m/s% tan~! GJ

3
(2) 5.0 m/s2, tan~! n

W | =

J
)
(4) 5.0m/s% tan~! ]

G
(3) 25m/s? tan™ 1[
[

SR "=

Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92

A ball of mass 0.30 kg strikes a rigid wall with a speed of 6.0 m/s and is reflected with the same
speed, as shown in the figure. The magnitude of impulse imparted to the ball by the wall is :

(1) 0

(2) 0.9 Ns
(3) 1.8 Ns
(4) 3.6 Ns
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0.30 kg ETHH &l BT 1€ 6.0 m/s T =1 § 1@ § 291w STER fordt 2g Ser § eatd 2 oi 9 =5
Y wrafdd € St €1 A g1 e w1 ver fy e sne i €

() 0

(2) 0.9 Ns

(3) 1.8 Ns

(4) 3.6 Ns
Options:-

=1, Option ID :- 365,
« 2, Option ID :- 366,
= 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Four boxes A(5.0 kg), B(3.0 kg), C(2.0 kg) and D(1.0 kg) lie on a smooth horizontal surface and are
connected by light strings, as shown in figure. A force of 44 N is applied horizontally on Box D as

shown.
T ! T
=gy 3 — &n > 44 N
L
: 0
T,, T, and T, are tensions as marked. The ratio = is :
3

i 1

Mz

” 2

@ %

5 3

®

s 4

@
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@ H g9iU S8R IR EeE A (5.0 kg), B (3.0 kg) , C (2.0 kg) 3R D (1.0 kg) %! T gHL H geah! SIA]
BRI S forddt &ftrst sioRfed U8 o T@n 7 €1 SO STER S D IR Afas: 44 N 9@ SRif frm

T €| SifRd foRT SATER T, T, 3R T, Sl 8 are €1 379w [T—zj &

T3
T: T T
!A_'!liB ! c—=p >44 N
L L L L
1 1
M 3
5 2
@ 3
3 3
(‘-) 5
o 2
O
Options:-

«1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94

A box of mass 0.80 kg is pressed against a wall by a force of 20 N, as shown in figure. The coefficient
of static friction between the wall and the box is 0.5. The magnitude of net force exerted by the
wall on the box is close to (take g=10 m/s?) :

Yy

g L

(1) 80N
(2) 120N
(3) 200N
(4) 215N
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@ H ST S8R 0.80 kg ZeAHM o feorsll Sied =l 20 N =1 BRI STe sl SR &1 T € | SER 87
S o = wifas FH0 s 0.5 1 SOR g e W OSRIGd 96 1 A2 9 @ o (Teean)
(g=10 m/s? EHfST)

y

g L.

(1) 80N
(2) 120N
(3) 200N
(4) 215N
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

A boy lifts a ball of 250 g vertically by a distance of 1.5 m. What is the amount of work done by the
boy ? (Take g=10 m/s?

(1) Zero

(2) +3.75 Nm
(3) 0.38 Nm
(4) —3.75 Nm

Teh g fohdl 250 g o1 718 %l 1.5 m SEEIEX IS & | ©1Seh g1 fohall T 14 #1187 (g =10 m/s2 ©)

(1) A

(2) +3.75 Nm
(3) 0.38 Nm
(4 —3.75 Nm
Options:-
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=1, Option ID :- 377,
= 2, Option ID :- 378,
= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

The figures below show the positions of pointers attached with the identical springs loaded with
different masses :

30jcm

40|cm

60 10
cm ke kg

Y

20
kg

What is the value of x ? (=10 m/s?)

(1) 5.0kg
(2) 6.7kg
(3) 8.0kg
(4) 150 kg
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= fedr 3 feti & <t we T e, S fe fafvs et & wifta €, @ 3¢ Freernt =it feafot =61 2ot 2

30(cm

h 4

60lcm 10 k
kg &

20
kg

x HIHA FTEM? (g =10m/s?)

(1) 5.0kg
(2) 6.7kg
(3) 8.0 kg
(4) 15.0 kg

Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

A person applies a force to move a 20 g object in a vertical plane from position A to position B
along a circular track of radius 50 m, as shown. What is the amount of work done by the person ?
(take g=10 m/s?)

B
Object
A (20g)
(1) 10 Nm
(2) 20 Nm
(3) 50 Nm
(4) 100 Nm
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SH R, fdl 20 g =1 9% 1 U 50 m 5591 o g9 99 & e7few fordl Swaier qa § afd & &
fere wek =afs Wk =@t o 81 =af g e e wE R 82 (g=10 m/s2 )

B
Object
A (20 g)
(1) 10 Nm
(2) 20 Nm
(3) 50 Nm
(4) 100 Nm
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

- ) A M N
A particle is moving in x-y plane under a variable force F = — 7 (Syi + 7j)N. Here i and jare
unit vectors along x and y axes respectively. The particle is first taken from the origin along positive
x-axis to the point (5, 0) m and then parallel to the y-axis to the point (5, 5) m. What is total work

done by the force ?

(1) +1750 Nm

(2) —1000 Nm
(3) +770 Nm
(4) =770 Nm

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220423803120... 60/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

Wqﬁaﬁﬁﬁ?=—7(3y?+7?)N%Hqﬁﬂﬁﬁﬂ‘{x-yﬂﬁﬁﬁﬁlﬁ@%lEl‘ﬁn’??ﬂ?}m:
xR y-Aefl & oFfe ghtd wfew €1 39 O A e x-He W HgeA-foig 9 foig (5, 0) m T SR AewwE
y-31% & TR f6g (5, 5) m 7% @R S B | 9 g1 fRA T e e R 2 2

(1) 41750 Nm

2) —1000 Nm

3) 4770 Nm

(
(3)

(4) —770 Nm
Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

A motor delivers a minimum power of 28 kW to a lift moving upwards with a uniform speed of

2.0 m/s. The frictional force opposing the motion is 2000 N. If the mass of empty lift cabin is
800 kg, then what is the amount of load that this lift can carry upwards ?

(Acceleration due to gravity =10 m/ 52).

(1) 1600 kg
(2) 800 kg
(3) 400 kg
(4) 200 kg

TR ! 3R 2.0 m/s T T THE A F A HT el fhH g it Hie 28 kW =IFad Ui 9em
I &1 T fawg = ae 2000 N § 1 4 @l fawe 1 §29E 800 kg € @ #8 fow R e e w
Tl AR S S Hebel & 7 (T @M =10 m/s2)

(1) 1600 kg
(2) 800 kg
(3) 400 kg
(4) 200 kg
Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,
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« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

A ball of mass 200 g is at rest at t=0. An external force F varying with time as shown in Fig is
applied on ball. The speeds of ball at (i) t=0.2 s, (ii) 0.4 s and (iii) 0.6 s are (i) v, (i) v, and (iii) v,

V2 i
respectively. q and E are :
AF(N)
0.2¢-
0.1

>t (s)
01 0.2 0i70.6
= N

(1) V—l—1;€=05
) :—i=2,%§~=05
@ L=
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200 g BSTTH i T 15 t=0 R farmewen § &1 fic W fom § <9id s19En w 9w g F amifia feen

S E (1) t=028 T, (ii) t=04 s T; T t=0.65 T g &l =T FHOA: (i) v, (i) v, T (jii)vy T :—j

¥5
Rz vy O
AF(N)
0.21--
014/
0 F— >t (s)
204 /0.
—01 0 (1/0 6
=
Vo Vg -
—= =1 —==05
4 - -
) B2 9. N8 s
v Vo
vp v3
- 2’ = =T
V2 V3
- Vs
Options:-

«1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Question ID:- 101
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The given figure shows a solid cylinder of radius 0.8 m. The cylinder is rotating about its axis at
10 rad/s. What is the speed of point P, located midway on line OA ?

A
(1) 4 rad/s
(2) 4m/s
(3) 8m/s
(4) 246 m/s

e T o3 H s 0.8 m 5o el w3 fafevet =1 suin = g1 faferoet s a1 o gfta:
10 rad/s ¥ 90 % @1 ¥ 1%@1 OA % 97 ¥ syafier fog P 1 = #0182

A
(1) 4 rad/s
(2) 4m/s
(3) 8m/s
(4) 246 m/s
Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102
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We are given two circular discs that have same mass and same thickness but could be made of
different materials. In order to provide rotational motion, the same amount of work is done on
both the discs. It is seen that one of them moves slowly as compared to the other. Which one of the

fo]lowing statements is true in this context ?

(1) The one that moves faster is made from more dense material.

2) The one that moves slower is made from more dense material.

4

(2)
(3) The disc that moves faster has more moment of inertia.
(4) Both the discs have same moment of inertia.

B HHA 29 T HHH HIE el €1 g fews € i € S fam fafve verel § o & wedt €1 576 o
T Y &g, <1 A Fewanl o Tam e fon St @1 e e St @ R S 9w g o s i v
FA § 1 3H g | Freifafad wee § 9 R W U g § 2

(1) ot g 5 arelt fewk afies e e vered § 5+ 81

(2) it T % et fomr sfus w9 T g & 5+ )

(3) S e Al fetk @ Siee gl wfE ¥

(4) < fewht & Srow sl wH €

Options:-

=1, Option ID :- 405,
« 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

A convex mirror of power 5D has an object of length 2 em placed perpendicular to principal axis
at a distance of 20 cm from the mirror. If d is the distance between object and image formed, and
L is the length of image formed, then :

(1) d=10em; L=05cm
(2) d=10cm; L=1cm
(3) d=30cm; L=05cm
(4) d=30cm;L=1cm
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5D WIfth & 3T SUVI & HH 2 cm 9T %1 Ueh favd 290 H 20 cm %1 51 T 39 A & & areied 1@l
?1 A d fare iR s wfafers & == =t < @ L wfafears =i oeg 2,

(1) d=10cm; L=05cm
2
(3) d=30cm; L=05 ecm
(4) d=30cm;L=1cm

d=10com ; L=1cm

Options:-

«1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Three objects, two with mass x and one with mass 1, can be arranged in any of the four configurations

shown below :
X
T X
r B
l 5 120°
¥ X X ¥ X

«——T—¢—T—> «—T—re—T—>
X y x y x X «~T1—> “«—T—
(@) (b) () (d)

Which one of the following statements correctly gives the rank of configuration according to the
magnitude of the gravitational force on y, greatest to least ?

(1) (@), (b) (c) (d)
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= fig, f5d &1 % o x 991 T 6 g9 y B, e sui T =R faerEl | e fm s g 2

X
X
1 L. \XQ_(,«
| N 120
y X Yy X

«—T »—T > T >¢—T »
3 - % 4 : ] st A
(a) (b) ©) (@)

y T e I o YR 3 S aR Freafafed Al 8 @ SF a1 v =9 faerdt o, sy § =,
el gefferg g § 2

(1) (@), (b), () (d)
(2) (), (¢), (b), (a)
(3) (). (b), (d), (@)
(4)  (b), (a) (d), ()
Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

An astronaut does some repair work outside of his space-station. He unknowingly leaves one of
his tools outside the space-ship. Assuming the orbit of space-ship a circular one, the tool will :

(1)  Fall back into the space ship.

(2) Fly off tangentially into space.
(3) Continue orbiting but at a reduced speed.
(4) Continue orbiting with the space-ship.

T SAdRe ars o9 STaRe-2 & ae 9 70Hd 1 HE Fdl ¢ STHEG H 98 A U U i
7 % 9TeY DS o1 ¥l STARe-A i HET P A WA gU, STRI

(1) Hafre—am H anfug o1 s
(2)  SHafe o vty e sEm
(3) Y = § IfEHAT ST W
(4) siafter—am % T qfehm T @

Options:-
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=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

A satellite, orbiting at an altitude of one earth's radius above the surface of the earth. How much
energy (E) is required to transfer the satellite to another orbit which is at an altitude of three earth's
radius above the surface of the earth ? Also, what are the changes in the satellite's potential energy
(AP) and kinetic energy (AK) ? (Mass of satellite is 400 kg) acceleration due to gravity on the

surface of the earth=9.8 m/s?, radius of earth=6400 km).
(1) E=~3.1x10°T; AP=0; AK ~ 3.1 x10?]

(2) E=>~31x10°]; AP=62x10%; AK ~ —3.1x10%]

@) E=~31x102]; AP=62x10%; AK =~ 3.1x10%]

(4) E=~31x10°]; AP~ +81x10°; AK ~ 0

Tk 3UUE oA i Fag 9§ Yeal i e o THE 9 9 ufiea v S @ § ) 39 3UUE o fed gud wen S
T geAl 1 HWae | geA w1 B A Pl FEE W, H WG 3 % o e w9 (E)
TR 2l 7 39UR i Fefas we § uftadd (AP) @91 fas S § 9Radd (AK) P E? (I9E &6
AU = 400 kg; J2aT i Hag T IEeEd @0=9.8 m/s> 991 Y2l &1 F531=6400 km)

(1) E=~31x10°]; AP=0; AK =3.1x167]

2) E=>~31x10°]; AP=62x10%; AK ~ —31%10°]

(3) E ~3.1x10%]; AP=6.2x107]; AK ~ 3.1X%107]

(4) E=~31x107J; AP ~ +3.1x10%; AK =~ 0

¢

Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
« 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107
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3/7/23, 2:50 AM Response Sheet

Two cylindrical copper rods A and B having diameters 0.1 cm and 0.05 cm respectively are stretched
within proportional elastic limits by a 5x 10° N force. The length of each wire is 2 m. If the stretch

in thinner wire is 2cm, the stretch in thicker wire would be : (The Young's modulus of copper is
1.1x 10" N/m?)

(1) 2.0cm
(2) 1.0cm
(3) 05cm
(4) 0.25 cm

T JeFTER i F Pl A o B f5F o9 HET: 0.1 cm 3R 0.05 cm ¥ 997 Io4F 1 TSR 2 m ¥, HI
5103 N % HHF ol gRI Gl Feare 9 3 sffew—di=n 741 € | =fe veet ar ¥ fe=m 2 em €,
e gr | fa=ma & -

(st 1 A AR =1.1x 10! N/m? )

(1) 20em
(2) 1.0cm
(3) 0.5 cm
(4) 0.25 cm
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108
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3/7/23, 2:50 AM Response Sheet

Match List - I with List - II and find the correct answer :

List- I List - II
(Physical Phenomena) (Associated law)

(A) Blackbody Radiation (p) Torricelli's law

(B) Viscosity of Fluids (q) Pascal's law

(C) Pressure in a Fluid (r) Stoke's law

(D) Speed of Efflux (s) Wein's displacement law
(A) (B) (O (D)

L @ 6 @ @

2 @ @© 6 @

@ ® @O @ 6

@ & O @ @

T - 1% g - 1% i oo X 98 S g
o - 1 et - 11
(ofiferertar fter=m) (Frarg, o)

(A) o fafmor (p) RHE-f=m

(B) @Al skl YA (q) UrEha-TTaH

(C) el § g (r) - e

(D) @fe - = &t = (s) dF - Toreres oy
(A) (B) (@ (D)

M @ 6 @ @

2 @ @ 6 @

@ ® ©O @ 6

4 6 O @ @

Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109
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Mean Kinetic energy per mole of a gas per degree of freedom is :

3
(1) 5 kT
1
() 7 kT
3
(3) 3 RT
1
(4) 7 RT

T 719 Ft wfa @ vfq = ife @iy 1fas o

3
() 5 KT
2 = kT
@ 3
3 2 RT
(‘-) 2 s
4 & RT
-

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110
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ST
1
(1)
ST
1
(2)
ST
1
(3)
ST
)
(4)

Temp —

Temp —

Temp —

Temp —>

Response Sheet

Which of the following graph can possibly represent the variation of surface tension (5.T) of water
with temperature over small temperature ranges ?

GET IT ON
Google Play
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S.T
t
(1)
Temp —>
st
t
(2)
Temp —
S.T
AN
(3)
Temp —
S.T
v
(4)
Temp —
Options:-

=1, Option ID :- 437,
« 2, Option ID :- 438,
= 3, Option ID :- 439,
= 4, Option ID :- 440,

Answer Given:- 3, Option ID : -439

Response Sheet

=1 5 | = 7w, Fre a9 8 F fou ST 3 g 9 (S.T.) A 3 |1 uiad wefvid Y Heed § 2

GET IT ON
Google Play

Question ID:- 111

Let a person whose surface area is about 2.0 m? is sitting in a room at temperature 17°C. The skin

temperature of person's body is 27°C and the internal temperature is 37°C. The Stefan's Constant
is 567 x 108 Wm~2 K~ Considering the person's body a perfect radiator, the energy emitted

per unit time by the person's body is approximately:

(1) 190 W
2) 110 W
(3) 90 W
4) T70W
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T Al Torge! Joig SEha e 2.0 m? €, 17°C d99H W UF &el | o231 & | Afh &l &= &1 auqm
27°C & 991 SAiafish aq9M 37°C §1 W% i 5.67x 10 8 Wm— 2K 4 €1 =aft % 0T = a7y
faferar omd U, =af® & TR 9 9fa i g o seafsid el o ©

(1) 190 W
(2) 110 W
(3) 90W
(4 70W

Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

The length of a wire is increased by 20% by applying a stress of magnitude 4.0 x 10" N/m? .Then
Young's modulus of material of wire is :

(1) 1.0x10" N/m?2

(2) 2.0x10" N/m?
(3) 1.0x10"Y N/m?
(4) 2.0x10Y N/m?

Teh AR i T 9, 4.0 x 1010 N /m?2 9ftmmr =1 gfasel ofme R 20% i 9i5 @t &1 a6 91 3 gere &1 4
TR 0T ¢

(1) 1.0x101! N/m?

(2) 2.0x10Y N/m?2

(3) 1.0x10'° N/m?

(4) 2.0x10° N/m?

Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113
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Match the followings :
List- I

(A) Isothermal process

(B) Adiabatic process

(C) Cydic process

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,
= 4, Option ID :- 452,

(A) B) (©
1 @ @ 0
2 @ ® @
G @ @O @
4 @© (@ @
Frefafad =1 gofaq #ifse

Tl |
(A) HHAYT TRH
(B) EBI*H WA
(C) =shId WshH

(A) B (©
D () @@ (@
(2 @ @ @
3 @ @ @
4 @ @ @

Options:-

Answer Given:- 2, Option ID : -450

Response Sheet

List - II

(p) PVY=Constant
(g0 PV=~Constant
(ry AU=0

GET IT ON
Google Play

Question ID:- 114
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— -
Two vectors P and Q have a maximum and minimum resultant of 10 and 6 units respectively.
‘_%p . - _9) - i - _>,! _}!
P’" has a magnitude 25% less than P and Q has a magnitude 100% morethan Q, P'. Q =0,
=, = =5
P + Q = R'. The magnitude and direction of R'is :
3 -
(1) 2413 units; at an angle of sin~!(2/3) with P’
: -3
(2) 2./13 units; at an angle of cos™1(2/3) with P’
(3) 24/13 units; at an angle of tan~!(2/3) with I;’

(4) 24/13 units; at an angle of cot™ 1(2/3) with P

A afeel p 3K Q & wifreRan i =Fan 9RO HE: 10 901 6 THE £ p HTURAM p & wiEm g

25% Y q1 5 %Itrﬁqma & giEm § 100% 21ferer 21 36 —(, @& F+5 _d R

(1) 2413 38 P ¥ sin~1(2/3) % vl R
(2) 2403 THE; P’ A cos~1(2/3) F I W
(3) 2413 TFE; P’ H tan—1(2/3) % H W
(4) 2J13 THE; P’ W cot—1(2/3) F B W

Options:-

=1, Option ID :- 453,
» 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115
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®) A

» X

(1) 15N
(2) 20N
3) 25N
(4) 30N
0 A

» X

e T A g +05N/m ARE| FHRAFE :

(I) 15N
(2) 20N
(3) 25N
4) 30N
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Response Sheet

A block P of mass 4M is at origin O of X-axis . A string OA=L has a mass M and is attached to
block P as shown in figure. A constant force F is applied parallel to X-axis at free end A of string,

The tension along string varies at a constant rate of +0.5N/m. F is:

ESHM 4 M 1 U =ik P X-3181 & Jefeg O W@ &1 M 599H o 8 OA =L, fos ¥ <o 37q8n
A P Y S 1 S % g W X-181 % wWiaR U Frad 9 Foemifua foen s 81 2R % srfew

GET IT ON
Google Play

Question ID:- 116

produced in water is close to :
(1) 2.56x10°m/s

(2) 1.9x10°m/s

(3) 14x10°m/s
(

)
4) 330m/s

It is observed that when a water surface is brought under a pressure of 10° N/ m?2, a volume strain
of 5x1077 is produced. The density of water is 10° kg/m®. The speed of longitudinal wave
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V&1 ST 9T G U AT {5 5ol o 989X 10° N/m? €16 STRITSE & 939 5 x 10~ 5 &l s1Fafies fasia
IeqH BT B | 5T 1 9 10° kg/m3 ¥ 1 Wl W 390 reed ali &1 = & (Freheam) -

(1) 256x10°m/s

2) 1.9x10°m/s

3) 14x10%m/s

4) 330m/s

(
(
(

Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
« 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

Two travelling sinusoidal sound waves have same amplitude and same frequency. They can
produce a fully destructive interference only if :

(1) They travel in the same direction and are in the same phase.
(2) They travel in opposite directions and are in the same phase.
(3) They travel in the opposite direction and are 180° out of phase.
(4)

They travel in the same direction and are 180° out of phase.

3 W SEEE A T+ A SR i whE 21 3 gl feamh safae Fa a4 e
Tl & ST

(1) & 9\F e | a9 99 feon 5 19 w2

(2) F HEE e H q91 faoid feenedi | 7 i g

(3) ¥ faud faenedi § 97 i € o 3 &9 180° 1 HeA B
(4) 3 wEF faen § T A € SR 36 o= 180° 1 FHel € |
Options:-

=1, Option ID :- 465,

= 2, Option ID :- 466,

« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118
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For a simple harmonic motion of a particle, graph between magnitudes of acceleration (a) and
displacement (x) is :

d
S
(1)
—>x
a
f
(2)
—px
1\
(3)
—>X
!
(4)
—>x
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a
S
(1)
—>X
f
(2)
—>x
%
(3)
—P>x
a
g
(4)
—>X
Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Response Sheet

T 93 F1Ed Tid o fAu ; ©R7 (a) W foseed (x) & 9 & &4 6 ©

GET IT ON
Google Play

(2
(3
(4

(1

)
)
)
)

Question ID:- 119

425
84s
1268
162 s

The bob of a pendulum executing simple harmonic motion has speeds equal to 3 cm/s and
2 em/s at distances 4 cm and 6 cm from the mean position, respectively. The time period of this
pendulum is (close to) :
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& SEd| fd e R dAeren o e i 3Heh Wi fEfd ¥ 4 em 31X 6 om g W =R FEw:
3em/s 3R 2 cm/s 81 9 et 1 21Ed % © () ¢

(1) 4.2s
(2) 84s
(3) 126
(4) 162 s
Options:-

«1, Option ID :- 473,
= 2, Option ID :- 474,
« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

Which of the following quantity/ies can be determined by the intial displacement and speed of a
particle which is executing simple harmonic motion ?

(A) Amplitude
(B) Phase constant

(C) Angular frequency

(1) (A) only
(2) (B)only
(3)  (A) and (B)
(4) (B) and (C)

TS Al i i TRt o1 & eaifyyers fammo siR = g A= € i aferEl [(A), (B) SR (O)] ° H
Tergeny/fermrert Frefeor foran < weren © 2

(A) 3T

(B) el fadies
(C) =i sgfa
(1) = (A)
(2) = (B)
(3) (A) ¥ (B)
(4) (B) 3 (C)

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220423803120... 81/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

Which one of the following determines the speed of a sound wave?

(1) Its intensity

(2) Its frequency
(3) Its wave number
(4) The transmitting medium.

frafafed § 9 0 @ s fwd) @ 9dn =+t = FHufa s g2
(1) ZHHI e

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
« 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220423803120... 82/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

3/7/23, 2:50 AM

1 =(0.06) sin(2mx) cos(5t)

List - I
(Physical quantities)
(A) Amplitude of constituent waves

(C) Frequency of waves

(A) (B) (O
@ P @ @0
2 @ @ (@
B) (@ @ @
4 (@ P
e T 7 % o fefafed g @

1y =(0.06) sin(2mx) cos(5t)

e H=ial b1 gHferd L Hel S i
=l 1
(viferer T1fm)
(A) HHZH TN 1 AW
(B) @I sFAFTd Foagi < == gl

(€ T = e
Aa) B (©
B P @ @
2 @ @ @
G @ @® ©
@ @O P @
Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,

Following equation is given for a stationary wave

(B) Distance between two consecutive nodes

T 11

(p)
(q)
(r)

Response Sheet

Match the following lists and find the correct answer :

=

ﬁ
=
s

el gt wiei & e 19 € den Uiyl & SI uneEr § )

(FT)
0.5

0.03
2.5

(Here all values are written in SI units and symbols have their usual meanings)

List-II
(values)
0.5

0.03

2.5

GET IT ON
Google Play
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= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123

Two charges A(5.0 pC) and B(10 pC)are located at points (0 cm, 0 cm) and (—8 cm, —6 cm)

A A
respectively. The force exerted by charge B on charge Ais (7 and j are unit vectors along x-axis

and y-axis respectively and [ } =9x 10’ NmZ/CZ) A

4 ey
() —@7 N)? - (36 N)?

2 (27 N)? + (36 N)?

(3 —(@6N)i — (27 N)]

(4 @6N)i + 27 N)j

q HEY A(5.0 pCO)FR B(10 pC) HS: fog3li (0 em, 0 cm) 3R (—8 cm, —6 cm) W fed g1 &Y
B BRI SN A R SR 9@ ¥ (7 R | owE x-ww R g F o whiE gl

[ 1 } =9x 107 Nm?/C?):
41‘1’80

() —@27 i — (36 N)'}
(2 (@ N)i + (36N)]
(3)  —(36 N)? ~ (27 N)?

(4 @6N)i + @7 N)]

Options:-

=1, Option ID :- 489,
« 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492
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Question ID:- 124

An electric dipole consists of two equal and opposite charges —q and  separated by distance 2a.
The potential due to this dipole at a distance r from its centre, on its axis is proportional to :

1 r

1
2 2

1
3 2
4 3

=1 fore faea, < oftamo & wom oiv fosidtg st —q 3R g, 579 s 2a &1 g €, | faere o
21 29 foya F PR w0 e Bl ¢ R foga fave Frefafed o feas srufos &2

() r
1
@ 2
1
() =
1
4 3
Options:-

«1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Three charges A(9 pC), B(18 pC)and C(—27 pC)are located at points (0 cm, 0 cm, 0 cm)
(0 em, 2 ecm, 0 cm), (0 cm, 4 cm, 0 cm) respectively. A sphere of radius 3 cm is drawn with its centre
at (0 cm, 0 cm, 0 cm). The electric flux through this sphere is (g,=9%10" 2 C? NI m~2):

(1) 0Vm
(2) 2.0x10°Vm
(3) 3.0x10°Vm
(4) 6.0x10°Vm
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@A AT A9 pC) B(18 wC) HIX C(-27 pC) HHI: fa=gsl (0 cm, 0 cm, 0 cm)
(0 cm, 2 cm, 0 cm) HETT(OmAcm,Oml)TRﬁi?JH%I (0cm,0cm,[]cm)ﬂ-ﬁéﬁf{%?3m1ﬁ@faﬂ
SIS el = T R | T el § [ e foRE e - (g,=9x 10712 C2 N~ m 2 &ifSm)

(1) 0Vm

(2) 2.0%x10°Vm
(3) 3.0%x10°Vm
(4)  6.0%x10°Vm

Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

A 200 pF capacitor is charged to 10 pC. The energy stored in the capacitor is :

(1) 0.20]
(2) 0.25]
(3) 0.40]
(4) 050 ]

200 pF =1 & frdl Henfa =1 10 pC = Aafed fon 0 81 39 waifs 1 Hied o= @

(1) 0207
(2) 0257
(3) 040]
(4) 0.50]
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127
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Three charges of 8 pC, —1 pC and 10 pC are placed at points A, B and C respectively, as shown
in figure. The potential energy of this system of charges is :

9 2 -2

(Take [4 'ITE,D:| =9 x 10" Nm~/C )
a T 4 pi 3aom

4 cm

-----F-9 10 pC

.C I

4 cm
Be—1pC
(1) 11.77]
(2) 171]
(3) 34]
(4) 342]

A T g9 78R o fagedi A, B 3R C W8 pC, —1 pC 3R 10 wC 18w feord €1 s1aeh & 39 fpm
=i feefost ot € -

H 1 }=9>< 10° Nm?/C? &ifeg

4 ‘I.TEO
A
B KE 3cm
4cm/_
----- - 10 pC
C 2
4 cm
Be—1pnC
(1) 11.7]
(2y 1TZL]
(3) 234]
(4 342]
Options:-

=1, Option ID :- 505,
« 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508
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Question ID:- 128

A parallel plate capacitor of plate area A and plate separator d is filled with three dielectric slabs
of dielectric constants 3 K, K and 2 K respectively, as shown in figure. Their areas and thickness

A A 2 A d
are [?, d], [?, ;l] and (E, g] respectively. C; and C are the capacitances of the capacitor

= st

&
without slabs and with slabs respectively. Then {a} is:

%/521(5%

:
o ()
@ (5K
o (2
o (2

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220423803120... 88/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

fordll g ufgep Henfs fomn! ufgehml o1 a%a A 3R g9 d ¢ T ufgemisdi o &= o I &l sli@
T gl SFER i TREEd e foe Tudgdie e 3K K SR 2K § § wm ?1 3 ufzwmeii %

mmmm[E d} [*; 23]@1[% gj%l s wiefen 1 gzl B e e g e

mﬁm@m:cﬂﬁac%mw{g—ﬂ}%—

%j/akz A

B

d
3
0 (B
o (2
o (2
o (@
Options:-

«1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129
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1
Three cells E,, E, and E;, of emfs 9V, 5V and 3 V and internal resistances 1 €, 0.5 ( and (g]ﬁ

respectively are connected as shown in figure. The equivalent emf of the combination, between
points A and Cis :

Ey

B
N

Eq
4
M fa]"
2 7V
3) 17V
(4) 1V

A Hedl Ey, B, 3R E; TS emf 599: 9V, 5V 3R 3 V @21 Hidfieh qfeds shaw: 1.9, 0.5:13311(%]9
& 1 ariva § gt SER Geife fr T | 39 e o fagei A 3T C % o9 qed emf ¥ :

E
A Fa C
E3
4
m (5
2) 7V
3) 17V
4) 1V
Options:-

«1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,
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= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Temperature coefficient of potentiometer wire should be :

(1) High

(2) Low

(3) Negligible

(4) Normal

forl fava Ardt ) =1 arg T[uies B =R
(1) 3=

(2) f=

(8) T

(4) HHHA
Options:-

«1, Option ID :- 517,
= 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131
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Vv

(1)
(2)
(3)
(4)

<3eV C

I T

(@) (b)

——

These materials are respectively :

Conductor, Semiconductor, Insulator

Response Sheet

Energy bands of three materials are given below. Here V and C represents their valance and
conduction bands respectively :

C

>3eV

v [T

(©

Semiconductor, Conductor, Insulator.

Insulator, Semiconductor, Conductor.

Conductor, Insulator, Semiconductor.

. 3
" <3eV C
v U AL
(a) (b)
3 ygry HH: €
(1) =TeAeh, A=, FHEeh
(2) AY=EEH, FEH, FAEH
(3) HHIh, S, FeEh
(4) A, AR, HHHETR
Options:-

«1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

o werelf % s e, F= el 8 ¥ SR Rl V IR C 3% wEe: ST e 2o 98 # awi ¥

C
>3eV
v ///////(/)/////

GET IT ON
Google Play

Question ID:- 132
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Two statements are given below one is labeled as Assertion (A) and other as Reason (R). Select
the correct answer using the code given below :

Assertion (A) : Potential difference (V) across the terminals of a battery is always less than the
emf (E) of a battery.

Reason (R) : During discharge of a battery potential difference (V) across two terminals of a
battery is V=E—ir, V< E.

(1) (A) and (R) both are correct and (R) is correct explanation of (A).

(2)  (A) and (R) both are correct and (R) is not correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

9 < e 58 T ¥, U 1w (A) T GHE HI wEF (R) FE T T A e T Fre § wE W
M :

HAT (A) : TF S H1 fGa=R (V) =8 F emf (B) B <591 &Y 26l 1

T (R) : UF 920 F fagsi & <1, 928 o1 fav@me (V) V=E—ir, : V<E ?

(1) (A) 99T (R) SF1 T & a1 (R), (A) 1 Hell =0 &l &
(2) (A) 91 (R) SHi T § a1 (R), (A) I HEl AR e F1 &
(3) (A) ¥ Y (R) STHA §

(4) (A) 319 T (R) 94§

Options:-

«1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133
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Which one of the fo]_lowi_ng Voltage versus current variation curve could correspond to a GaAs

device ?
I
(1)
v
(2)
v
I
(3) /\
v
1
(4)
Vr
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== fed 3 sl | | #F W U e GaAs Ifw & fau w& dieear - 9 fa=wo) 1 g |endl 82

<vy

(4)

Options:-

«1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

A silver wire has a resistance of 2.1 ) at 27°C, and a resistance of 2.7 () at 100°C. Which one of the
following values approximately gives the temperature coefficient of the resistivity of silver ? (The
physical condition of the wire remains the same throughout).

(1) 40x1073K™!
@) LTx10~2EK~1
(3) 13x1073K-!
(4 27x1073K"!
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foret fgee & AR &1 27°C WUl 2.1 Q W& q91100°C W 2.7 O & | Fafafas aHi § ¥ =96 u faer
% yfedisreral qTdtg T[oris 1 SFAM S &2 (AR %1 ifae feafaat gmm s wd €1

(1) 40x10-3K-!
(2) 1.7x1072K-1
(3) 13x103K!
(4) 2.7x1073K-1
Options:-

«1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533

Question ID:- 135

Which of the following substance has a negative magnetic susceptibility ?

(1) Magnesium

(2) Gold
(3) Chromium
(4) Nickel

freAfafaa § & foFg U 1 B Faea yafd & ?

(1) Fiform

(2) TS

(3) hItHAH

(4) TAa
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136
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GET IT ON
Google Play

A current of 10 A is maintained in a long straight wire. The magnitude of magnetic field at a
distance of 20 cm from the wire is (y=4wx10~7 Tm/A) :

(1) 10 pT
(2) 20 pT
(3) 628 uT
(4) 1256 uT

Terl orvel Hiem AR H 10 A 9R0 Efd 1 T 81 3H 9’ H 20 e §U W FERIA 45 1 qRET ©

(ho=4mx 107 Tm/A)
(1) 10 uT

(2) 20 puT

(3) 628 uT

(4) 125.6 nT
Options:-

=1, Option ID :- 541,
« 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

A square coil of side 5 em, with 50 turns, carries a current of 4.0 A. It is suspended vertically in a
uniform magnetic field of 0.6 T such that the plane of the coil makes an angle of 60° with the field.
The magnitude of torque experienced by the coil is close to :

(1) 0.15 Nm
(2) 0.26 Nm
(3) 035 Nm
(4) 052 Nm
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5 cm ST AR 50 W Al T SR Fuee ¥ 4.0 A U yoifed & W@ T 39 Fuee # 06 T F
TR R &5 H SHeEiuid: 36 YR fefad fem ma € 6 fusell ®1 ao graehid &5 H 60° 5 Hil
AT ¥ | FUSTH gRI ST fohu o et ot 2ot &1 uftm (Frekead)

(1) 0.15 Nm
(2) 0.26 Nm
(3) 0.35 Nm
(4) 0.52 Nm
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Two long parallel conductors A and B separated by 10cm, carry currents of 10 A and 4 A respectively
in opposite directions. The force exerted by conductor B on 5cm segment of conductor A is
(hg=4mXx 1077 Tm/A).

1) Repulsive with a magnitude of 4.0 uN

(1)

(2) Repulsive with a magnitude of 8.0 pN
(3) Attractive with a magnitude of 4.0 pN
(4)

4) Attractive with a magnitude of 8.0 pN

10 cm YU o &1 @, HiE gH=R Fierehl A 3R B faadia feensii § e 10 A R4 A gRC yarfed
AW 1 A B 5 AEH A F5 cm T GUZ T ARG 96 # 1 (y=4wx 1077 Tm/A),

(1) et foment aftmr € 4.0 uN

(2) wfcerse fergert afemn & 8.0 uN
(3) sy former gfmmr € 4.0 pN
(4) IRy formeR afemo € 8.0 uN
Options:-

=1, Option ID :- 549,

= 2, Option ID :- 550,

« 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551
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Question ID:- 139

A 1.2 cm straight segment of a wire (part of a circuit), centered at (0 cm, 0 cm) lies along y-axis. It
carries a current of 6.0 A along y-axis. The magnetic field ata point (12 cm, 0 cm) is : ( ?, ; and E

are unit vectors along x-axis, y-axis and z-axis and py=4mw X 10~7 Tm/A).

~

() —(0.25 uT)k
(2)  (0.25 ;LT)E

(3) - (050 p,T);;

A

(4) (050 nT)k

el O = 1.2 cm T HiE HY @IS (IRUG H Tk 9F) S y-2981 & AT W12 (0 cm, 0 cm) |
Ffgd 71 Y -39 F 97V 6.0 A U vaTed & @ ¥ RS fag (12 em, 0 cm) T e 83 ®

(7, ] ARk oy, - 3R - % SN Th Hfew & 9o =4 x10~7 Tm/A)

AN

(D —(0.25 uT)k
(2 (0.25 uT)i

(3) - (050 ,LT)J?

A
(4) (050 pnT)k

Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Question ID:- 140
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_.’
The magnetic energy per unit volume in a region with uniform magnetic field B is (u is the
permeability of free space) :

o (5

o (D

THEAE gEET 49 B ¥ R 4§ uht Ui S e el 3§ - (w, I S
A 1)

(1 &}B;f

o Gh

Bz
3 —
(3) Ko
4o
4 — |B
o [2]
Options:-

«1, Option ID :- 557,
= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Question ID:- 141
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A solenoid of length 2.0 m and cross-sectional area 1.0 x 10 ~*m? consists of 200 turns per unit
length. The self-inductance of the solenoid is (py=47x10"7 Tm/A) :

(1) 4 wpH
(2) 8 wpH
(3) 16 wuH
(4) 32 mpH

2.0 m @ 3 1.0% 10~ 3m? ST9% 1 AFhe i fhEl aftifers H ufd Ui o Tl i 98 200
21 3H UIATTeTR 1 WA § ¢ (py=47x 1077 Tm/A)

(1) 4 wpH
(2) 8 mpH
(3) 16 wpnH
(4) 32wpH
Options:-

=1, Option ID :- 561,
« 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

A 2.0 m long metallic rod is rotated with a frequency of 20 rev/s about an axis perpendicular to

the rod passing through its one end. The other end of the rod is in contact with a circular metallic
ring. A constant and uniform magnetic field of 0.6 T exists in the region parallel to the axis. The

emf induced between the centre and the ring is :

(1) 12V
2) 12V
(3) 48V
(4) 48wV
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2.0 m &= fHH-Hifcaes ©2 1 39k Uk & ovaad oy g A4 & i 20 gf=smo/&Asoe &
sgfa & 5o 0 T ¥ 36 o gy i frd ada s gera F v A R A T 0.6 T
HE f7od 3T 9187 & HHie UHEAE gras &F e 81 9o ot 9o & s % drd fosfad emf
(forga aws =) ©-

(1) 12V
(2) 127wV
(3) 48V
(4) 48 wV
Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

A sinusoidal voltage of peak value 141 V and frequency 50 Hz is applied to a series LCR circuit
(R=3 Q, X; =7 Q, X-=3 (), symbols have their usual meanings). The power dissipated in the
circuit and the power factor are respectively :

(1) 0.6 kW, 0.8
(2) 0.5 kW, 0.6
(3) 1.2kW, 0.6
(4) 1.2kW, 0.8

S 50Hz R frawF 141 V 1 frdl sameshia dieedl w1 fwm 4off LCR 9wy (R=3 Q, X, =7 Q,
SR X =3 Q 7ol gav! o 21ef T €) W S0 foen o B 2w oftwy o wit & oiR oftoy = ufe

(1) 0.6 kW, 0.8
(2) 0.5 kW, 0.6
(3) 1.2kW, 0.6
(4) 1.2kW, 08
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042380312... 102/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

= 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Consider the following statements for all virtual images :

(A) These can be seen but cannot be taken on a screen.

(B) These are ephemeral (short-lived).

(C) These are always equal in size as that of the object.

(D) These can be formed either using convex or concave surfaces.

Which of these statements are true in the given context ?

(1) (A) and (D) only
(2) (B) and (C) only
(3) (A), (C) and (D)
(4) Al (A), (B), (C) and (D)

s wfaferi & Heyl # Frfafen wemi w fa=m #ifs -
(A) ¥ 3E T EHI E T We W AR o = ekl

(B) & STeudhifcls B & |

(C) e SR H3d € feial & qor 2 §

(D) e 3T A1 SAae Hdel o ST H W FoR2 <1 Hehar
AR iR AP d g9 82

(1) 9 (A) 3R (D)

() %4 (B) 3R (C)

(3) (A), (C) iR (D)

(4 = (A), (B), (O ¥R (D)

Options:-

«1, Option ID :- 573,

« 2, Option ID :- 574,

= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145
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As shown in the diagram, a hollow lens, made of very thin glass having refractive index equal to
1.5, can be filled with air (refractive index=1.0), water (refractive index =1.33) or CS, (refractive
index =1.60). Which of the following thoughts may be adopted if the lens is to be used as a divergent
lens for a light beam that is incident parallel to the principal axis of this lens ?

(1) The lens is filled with water and immersed in air.
(2) The lens is filled with CS, and immersed in air.
(3) The lens is filled with CS, and immersed in water.

(4) The lens is filled with water and immersed in CS,.

o= # <93 oER Tt @t &9 st fF 1.5 suadis 9 9gd & 9ae &9 9 9§, § A
(SAYEHIFH=1.0), STef (AUSHIH=1.33), Fq1 CS, (TU=AIF =1.60) W S Fehell 1 39 F & H&A
157 o GHICL STTafad Rt weRTe 41 o foru 39 & 1 SO i o w9 H ST § @ o fau frefatea
T = o foar 399w & aed ® 2

(1) <9l Sid § L a1 9 H St
(2) ©F I CS, H WHL T o H el
(3) " ® CS, q WL 941 51 § gaAlHL
(4) o S Y R 991 CS,H gAR
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146
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L; and L, are two plano convex lenses of materials of refractive indices p; and w,, respectively.
The radii of curvature of curved surfaces of L, and L, are C and 2C respectively. The two lenses

are put in contact to form a bi-convex lens. The equivalent refractive index () of bi-convex lens is:

1) p=py+2p,

(

(2) 2p=2p;+p,
(3) 3pu=2py+ py
(4 3pu=2py+py

L, 3R L, S H9qe 3¢ TF & S AN, 3R p, SIS & 9eei % 1 Ly 3R L, i as-Hael &t
ashal B € 3R 2C B A ST o El W fgsad ol | 1 9ed A9aTHIF ©

1) wn= 2Ry

(2) 2p=2p+p,
(3) 3p=2ptp,
(4 3p=2py+

Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
« 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

With regard to Huygen's principle of secondary wavelets, following statements are given:
(A) It can be used to find the speed of light in a medium.

(B) It can explain Snell's law.

(C) Itcan be used to find the subsequent position of a wave front.

Which of these statement is/are true ?

(1) (A) and (C) only

(2) (B) and (C) only

(3) (A)and (B) only

(4)  All three, (A), (B) and (C)

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042380312... 105/139


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:50 AM Response Sheet

BRI % fadfiaes dom fagra & dey ¥ frefafes e fed M € -

(A) THa IAM fRt Arem § g sl =e E % % e fR s wesa g1
(B) THE TIe F 70 w1 =ATE w1 = Ul &

(C) =& 39Fr feret i et srad feafa &1 S S 9ear 21

HH H FIT HEl §?

(1) = (A) 3R ()

(2) % (B) ¥R (C)

(3) I (A) SR (B)

(4) ®oft < (A), (B) 3R (C)

Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Three nucleii X, Y and Z have mass numbers A;; A,(>A,) and A4(<A,) respectively. The binding
energies of X, Y and Z are E; E, (=E,;) and E; (>E,) respectively. Arrange the nucleii in their
increasing order of stability:

1) XVYZ
2 Y. XZ
3) X ZY
4) Z Y, X

T R X, Y TR Z 3 g HeIE wEW: A Ay(>A)) FRAL(<A) B X, Y SR Z i dyF wEid
% E;E, (=E,)) $RE, (>F,) €1 el & wenfie % agd gu o H @01 98t 9 8 2

(1) X Yy s
2 Y, X Z
3) X4Y
4 Z,Y,X
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,
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= 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

A point light source O is placed between two plane mirrors at a distance 0.2x from mirror A, as
shown in the figure. We see multiple images of the light source in both mirrors. How far behind
mirror A are the nearest three images of the source in that mirror ?

(1) 02x,18x 3x

(2) 02x22x 24x
(3) 02x,08x14x
(4) 02x18x22x

[po]

o 1 29l o ER @ goael gdol & S A F 02 H W R UF Sy o EHa O T &) &8 i &
YU H yeRTen | o e Yiafera feErht 0 €1 90 A % fRds 9 39 gu § Eid 1 ey d widfae
g2

0.2 x

O

X
A B
(1) 02x,18x 3x
(2) 02x22x 24x
(3) 02x,08x14x
(4) 02x 18212 22x

Options:-

«1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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Which one of the following statements is true for a photoelectric effect apparatus ?

(1) The stopping potential for a given photosensitive material is independent of the frequency of
the incident radiation.

(2) The saturation current for a given photosensitive material is independent of the frequency of

the incident radiation.

(3) On bombarding radiation on a photosensitive material, the photo electric emission process
takes place with a time lag of about 1ms.

(4) The cut off frequency of incident radiation is same for all photosensitive materials.

ferdt gl SEd g IUsR o fau Frefofad waH 4 9 %6 91 us g 8 7

) Tt fed 1 wepreael yard & fore et favm, smafaa fafeo &6 smgfa o fask =2 % €1
(2) ot fed 73 werrHast were & forw dqw umn emafaq fafeo &t sngfa w fafR 72 wt

(3) Torsdt wenrer Warst ugred W fafeRto & STTUa O Wehre SEd SaHSH @S 1ms HHA % U Bl © |
(4) e fafesor 6t siges smafa @l g Hadt yemel & fog wmm g €

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

What is the de Broglie wavelength associated with a ball having kinetic energy equal to 67.5 ] ? The

mass of the ball is 150 g. (Planck's constant=6.63 x 10~ 34 Js) :
(1) 1.04x103* m

(2) 3.27%10" 3B m
(3) 147x10"*m
(4) 4.66x107H m
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67.5 J Tl il aret! feret g & Trag S-amelt aimeed 1 gnfi 2 1ig = 599 150 g © |
(e Faeieh = 6.63 x 10 = Js)

(1) 1.04x10"% m

(2) 3.27x10-F m
(3) 147x10" 3 m
(4) 4.66x10~ m

Options:-

«1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Three particles: an electron, a proton, and an alpha-particle are accelerated through the same
potential difference say 200V. What is the rank of these particles according to their associated de-
Broglie wavelengths, greatest to least ?

(1) Alpha-particle, electron, proton.

(2) Proton, alpha-particle, electron.
(3) Electron, Proton, alpha-particle.
(4) All will have same deBroglie wavelengths.

T 0T : U S, Tk UeH AR UF Iew-Fv 999 faveia, g w200 v, A afa s m g =
Ut ITH GrEG S-Frel qoTerd], siferedn I =, T el o I § 2

(1) STeF-HI, TeTaH, Tem

(2) WRH, HATH-H, AR
(3) e, UIeM, SRS
(4) | HY -l TCH-THE £ |

Options:-

«1, Option ID :- 605,
= 2, Option ID :- 606,
= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153
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Which one of the following statements is NOT true ?

(1) The average binding energy per nucleon in an atomic nucleus is almost the same as the
binding energy in atoms.

(2) The average binding energy per nucleon does not depend on the electric charge.
(3) The range of the nuclear forces is usually few femto meters.

(4) Nuclear forces do not follow inverse-square law.

FreAfefied gl § | *hF W 0% §e TR 6 7

(1) T ofoem wifver aen foreht oemm) # wfa <feerm eia sum e oy 9am g 8

)
(2) wia e i/ S el foga oTew | R &
(3) Ifeh el =1 IUE WEEG: i ERHIEE Sl @
(4) R o SeRn - =1 Fram @ e @ sd

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

Which of the following factors determine the photocurrent in a photoelectric effect apparatus?
(a)  Intensity of incident light.
(b) Potential difference applied between two electrodes.
(c) Nature of emitter material.
Using the code given below select the correct answer :
(1) (a) and (b) only
(2) (b) and (c) only
(a) and (c) only
(4) Al (a), (b) and (¢)
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forel werm1 g wrE U | Frefafed sl | 9 S ye-gmr i i e g7
(A) Smafad wepm i e

(B) THI SoidgIS] & Hed Ygth favaian

(C) Ieosish & e 1 yphd

9 fed e w1 wEE o e I g

(1) ()aﬂ?(B)%—w

B) 3R (C) ad

A) #R (C) e

A), (B) &R (C) |+t

(2 |
(3)
)
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
« 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Match List - I and List - II, given below and select the correct answer from the code given below:

List-1 List-1I
(Physical Quantity) (Approximate energy values)
(A) X-ray Photon energy (p) 0.02 eV
(B) Binding energy per nucleon (@ 931 MeV
(C) Thermal energy of air molecules (r) 10 keV
at normal temperature
(D) Energy equivalent of 1u (s) 8.0 MeV
Code
(a) (B (© (D)
L ® 6 O @
@ & P g @
B @ @® & @
@ @©® 6 @ @
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= & TRl gEi-1 -1 S gfod o g 3 A el T g 9 wE W g
-1 Teft-11

(oitferes Tifom) (3T S W)
(A)  X-Toto wIEE =l (p) 0.02 eV
(B) wia——afaretat sy == (q) 931 MeV
(C) ETHF a9 9 Fg-STYHA] I AT el (r) 10 keV
(D) 1u % FSll-qedis® (s) 8.0 MeV
e

(A) ®) (© (D)
M @ 6 O @
@ 6 @ @ @
3 @ @O 6 @
4 () ) @) (@
Options:-

«1, Option ID :- 617,
= 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156

Which of the following radiations has the highest wavelength ?
(1) Microwaves

(2) Ultraviolet rays
(3) Gamma rays
(4)

4) X-rays

Frefefed el # | fereent qimeed wfemran 872

(1) wrEEheE

(2) oSl TR

(3) T faReoy

(4) X-fereoy
Options:-

=1, Option ID :- 621,
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= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

In the Bohr model of hydrogenic atoms, which of the following statement(s) is/are correct ?

(A) The radius of the orbit of an electron having principal quantum number n is directly

proportional to n?,

(B) The magnitude of the potential energy of the electron in any orbit is always equal to the

kinetic energy of electron.

(C) The total energy of the electron in the nth orbit is inversely proportional to n.

(1) (A)only
(2) (C) only
(3) (A)and (B)
(4) (B) and (C)

BRI TEAE % SR ved U, frefafes wuH 8 § wF 9@ ?

(A) Tt seEgE foeet g@1 &ien §&m n 71, & %& &l 50 n? % SFTRa S g
(B) fodit oft en ¥ sorem =1 feafast <ot swant wfast w1l & wde wme 2t

(C) n df %N H, SoEIH i el Sl n % FEhHHIRT ddl 1

() =& (A)

(2) = (C)

(3) (A) ¥R (B)

(4) (B) ¥ (C)

Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158
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A hydrogen atom is in second excited state. It emits a photon in jumping to a state of energy
12.09 eV. The time period of electron in orbit in initial and final states are T, and T,, respectively

(V2) »

(1) 3
2 9

(3) 18
(4) 27

T BESSH WH faedid SHfea ofemen #§ 21 9% 12.09 eV FW1 ael g% § Fed F fou uF weA
Sl e 1 W SR sif e g e e T T, B4 )

(1) 3
(2) 9
(3) 18
(4) 27
Options:-

=1, Option ID :- 629,
« 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

On forward biasing a p-n junction diode the :

(1) depletion layer width decreases and the barrier height is reduced.
(2) depletion layer width decreases but the barrier height is enlarged.
(3) depletion layer width increases but the barrier height is enlarged.
(4)

4) depletion layer width decreases but the barrier height remains unchanged.
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Wp-nﬂﬁlmﬂﬁ STl aFY 0 W

(1) B TR =l =eE Y & S € SR At F SR 92w #

(2) T TR IS S S § I Al Y S 9 S
(3) o TR HI ISR o7 Sl @ iR Ul Y S 9 =

(4) B T R ISR U2 S € W Atk 1 Fard euftafda wd €

Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
« 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160
A small block of 8kg is suspended by a rope of length 3m from a ceiling. A force of 60N in the

horizontal direction is applied in the midpoint P of the rope, as shown in figure. The angle 6, the
rope makes with the vertical, in equilibrium is (take g=10 m/s?) :

0
360N

V] 8xkg

g ()

U]

Hs | 0

1| =

(8
"3
3

ul] k2
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8 kg ZeIHI 1 Ueh Bl =il 8l 3 m &1 T gR B9 ¥ @2kl &1 W & 7 foig P ox fot & iy
TR &fcrst feam o sk o 60 N TR et & 1 T g Her H SR § o 9 6 € : (g=10 m/s?)

-
7 s s
m be(3)
@ ()
0wl
@ (3

Options:-

«1, Option ID :- 637,
= 2, Option ID :- 638,
« 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

A person having mass 60 kg, is moving in uniform circular motion on a horizontal surface which
is frictionless. The radius of circle is 5m. The centripetal force applied is 50 N. What is the amount
of work done by the force when the person moves through one-half of a rotation ?

(1) 0Nm

(2) 250 Nm
(3) 500 Nm
(4) 250 ™Nm
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60 kg 2T %1 Uk Afh el avorfed ST §08 T2 0% §HH ada Tfd F @21 g9 F H 5m )
SR U= 961 50 N & | a9l & g0 T2 73 e a6l ursn #2401 21, Siefes safh Ueh =t &1 21181 91T

T L GH G ?
(1) 0 Nm
(2) 250 Nm
(3) 500 Nm
(4) 250 wNm
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

— -3
Two conservative forces Fy and F, act simultaneously on an object of mass M. The work done by

them over a closed path are given in two cases as follows :

Wi = (5 +5).d5 and w, - (7 - ) a5

What is the relationship between W, and W, ?

(1) WW,

(2) W;=W,=0
(3) W;=W,#0
(4 W, <W,

QEweh ae B, 3 B, RO T W ey e e ) e e v TR S g R e e
< Teafaai o fen simar & 2

—

wi=q(E +B).ds 7w, =d(§ - B).d5

W, @1 W, H %1 HeH § 7

(1) WpW,

(2) W,;=W,=0
(3) Wy=W,#0
(4) W, <W,
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Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

_>
An object is moving with a constant velocity V. Which one of the fo]lowing statements is correct

for the angular momentum of this object ?
1
2

(1) Its value is always zero.

(2) Its value is always non-zero.

(3) Its value is zero only once during its journey.
(4)

Its value is zero only if the trajectory of the object passes through the origin.

i fife we foromier 3 v @ e ¥ 1 g9 fifs & it Wi ¥ for Freafafea w4 4 9 o o
272

(1) =9&1 9 9<d I & & |

(2) TH®H HH Had & 3 B 2

(3) U HF SHE! AN Y FHadt U 9”& I e

(4) SHH W Y BN Had S B TR 59 3 U w5 gar 9 e fug ¥ SRt el e |

Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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A cord of negligible mass is wound round the rim of a flywheel .The mass and diameter of the

ﬂywhee] are 10 kg and 20 cm respectively. Now the cord is pul]ed down steadily, as shown. What
is the angular acceleration of the flywheel ? (The flywheel may be considered as rigidly mounted
on a horizontal axle and as it bears no friction) :

m=10 kg
F=10N

(1) 5s 2

(2) 10s~2

(3) 20s 2

(4) 100 s—2

T gSH arelt Ueh Tt ol Ueh MfaaTeiss 95 (TeE-seia) & AR () wade w1 nifaurerss =6
%1 ZIHM A1 A A 10 kg G120 om &1 76 Tl %1 S0 ATHR Hren = 1 S @i S €
TfTaTeTeh =5k S ShIvNE I 4  ® 2

(rferareTer =15k 1 foret &ifirst 2181 W el & WY o 0T ST Gl § 997 T8 g S S W )

&)

m=10 kg
F=10N
(1) &g==2
(2) 1052
(3) 2052
(4) 100 s—2
Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
« 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165
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Two statements are given below, one is labeled as Assertion (A) and other as Reason (R). Select
the correct answer using the code given below :

Assertion (A) : If temperature is increased, fundamental frequency of an open pipe will increase.

Reason (R) : The fundamental frequency of an open pipe is directly proportional to the speed
of sound wave and with increase in temperature, the speed of sound waves

Increases.
(a) (A) and (R) both are correct and (R) is correct explanation of (A).
(b) (A) and (R) both are correct and (R) is not correct explanation of (A).
(¢) (A)is true but (R) is false.
(d) (A) is false but (R) is true.

(1) (b)
(2) f(a

3) (©
4) (d)

=1 1 e &3 T 7, U o U (A) 791 TR ) hen (R) T B AT e R e o weEdl § Ea

I G ;

YA (A) : FfS T A &, TF Get T kI YA AL s ST

@1k (R) : Tt gt urey &t ga ergfa o o6t 9t o STshATawd it € a9 ard § gfg & iy waf &t
T off Tt T

(a) (A) T (R) Sl ¥ € A1 (R), (A) i 9t =& FId ©
(b) (A) @1 (R) S Ge1 & G (R), (A) ! &l =402 78 L &
(€) (A) ¥ 2 T (R) 37 &

(d) (A) 3THA & W (R) 99 ¢

(1) (b)
(2)  (a)
3) (©
4)  (d)
Options:-

«1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

=« 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659
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Question ID:- 166

For the given segment of a circuit, match the following List - I and List - II for V 43

10V
Ao—< —\VWWWWW—<—B
20

List - I List - II
(A) Ifi=5A (p) Vap=10V
(B) Ifi=0A (@ V=0V
(C) Ifi=-5A (1) V,p=20V

(a) (B) (O
W P @
2 @ ® @
3 @ @ (@
@ @O ® @

== &4 7@ aftgy = fag, gei-1 92 Geit-11 &1V, , % fou gafaq $ifso

10V
Ao—< {—\WWW—<——B
20
-1 -11
(A) 3fgi=5A (p) Vap=10V
(B) g i=0A (@ Vap=0V
(©) 3fg i=-5A (r) V,p=20V
(A) (B) (O
O P @ O
2 @ @
3 @© @ @
4 @ @ @
Options:-

«1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661
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Question ID:- 167

An electric dipole of dipole moment 2 X 10 ™8 Cm is placed in an uniform electric field of magnitude
6 x 10 N/C such that the axis of the dipole makes an angle of 30° with the direction of the field.

The magnitude of torque acting on the dipole is :
(1) 2x107% Nm

(2) 4x107%* Nm

(3) 6x10~% Nm
(4) 104x10~4 Nm

2x10~8Cm fgya @yl % forelt fagm fgya =i 6 x 10* N/ C 9fem % veamH fog@ &3 § 59 yoR @
1 % To fua =1 o181 &1 %1 faen | 307 &1 10 SFE1 1 9 ¥ W R o el o g ¥ -
(1) 2x10~%Nm
(2) 4x10~%Nm
(3) 6x10~%Nm
( 10.4% 10~% Nm

Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Let ng, ny, ng and ny; be the refractive indices of crown glass for red, yellow, blue and violet
colours respectively. Which of the following sequence is correct ?

(1) ny<nzg<ng<ny

2) ny<ny<ng<ng

(
(3)
(4)
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ng, Ny, N A1 ny, A Hid & fAC FAA: e, diel, Fa K S @ % duadyis &1 Fefafea wH
T H W E 2

(1) ny<nzg<ng<ny
(2) ny<ny<ng<ng
(3) np<ny<ng<ny
(4)

4 nR >Ny > ng> Ny

Options:-

«1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

A particle moves with different uniform speeds v, 2v, 3v, . . ., nv in equal intervals of time. The

average speed of particle over complete journey is :

nv
m
% (n—1)v
2
(n+ 1)v
@
(4) (n+1)v

TS U1 t 999 & A Aauel H fafys wh 969H =06 v, 2v, 3y, L, v TGEA B 0 S FE0) 9 |
a9 © ¢

nv

M
(n—1)v

B R
(n+ 1)v

y B

(4) (m+1)v

Options:-

=1, Option ID :- 673,
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= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

_>
A particle is projected with a velocity v in vertical direction from top of a tower 100 m high. The

_>
particle is 10m above top of tower at t=1s and 20m below top of tower at t=4s g is acceleration

— —
due to gravity. v and g are:

(1) v=15 ms~! upwards
g=10 ms~2 downwards
(2) v=15 ms~! downwards
g=10 ms ™2 downwards
(3) v=10 ms~ ! upwards
g=5 ms~2 downwards
(4) v=15 ms~! upwards

g=>5 ms 2 downwards

R 100 m 39 F19R F forer 3 s fie | 30§ AR fewn § g frn s €1 fi t=1s W F

Tt ¥ 10 m 9 8 991 t=4s T I % foReR § 20 m = 1 QWW%I ;)331’{ g%
(1) v=15ms~! FW &I 3R
g=10ms_2:ﬁéﬁ3ﬁ1
(2) v=15ms~! A" H R
g=10ms_2:ﬁ€iﬁ3ﬂ'{
(3) v=10ms~ LI & AR
g=5ms_2_'ﬁ%f5ﬁ3ﬁt
(4) v=15ms~! TR = AR
g=>5ms 2 9 i X
Options:-
=1, Option ID :- 677,

« 2, Option ID :- 678,
= 3, Option ID :- 679,
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« 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

In figure, blocks A and B have masses 2M and M respectively. Block A lies on a rough horizonatal
surface (p, co-efficient of friction). The string connecting A and B is massless; inextensible. The

pulley too is massless and frictionless. An external force Fis applied on A, and system moves with

a uniform speed. On reversing direction of F and reducing its magnitude to (%), the system

accelerates with block B moving downwards with acceleration a. The string remains taut a is:

F<A
B
(1) (2-3w)(g/3)
(2 (-2u)(g/3)
(3)  (2—3w)(g/6)
(4)  (3—2p)(g/6)

fors1 9, =1 A 3iX B & ZomH %99 2M SR M ¥ | =16 A Tl 4fas 98 (p 999 70s). A 3R B &
Sire el SRI geaHF-fed a9 7adr § | ot off gemm-fed aun = fed 81 =i A W 0 5" 9e
F S € S qon frer weh wehen e = & A g | F o e i e qon s o (B4)

T e W; e A9 T oiR i S gU s B T ©R a L gal £ 1 S 1 g WAl 81 a W HE
2

F<€<A
B
(D (2-3p)(g/3)
(2) (3—2w)(g/3)
(3) (2-3w)(g/6)
(4)  (3—2p)(g/06)
Options:-

«1, Option ID :- 681,
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= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

A particle of mass m at rest at t=0 is under the action of a force F varying with time. The
instantaneous power (=p) delivered to particle is

p=c gn+1

where ¢ is a constant. F is proportional to :

m  (25)
@ (1) +1

3) n+2

(4 n+1

t=0 R foum o m 2299 &1 U 92 s 999 & 919 =] g F & @0 o 21 fave =i few 29 aredt
dreefores Afe (p) p=c t2 1 | Frefoa &1 7 &1 7@l ¢ wF Fradis 81 F e g 82

(%)
2 (94) +1

(3) n+2
(4) n+1
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173
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A ball of mass 400 g is at rest. The ball starts moving under the action of an external force

1
(in newton) F=2 t? along x-axis. The work done on ball by applied force in time t=(3)3 sis :

(1) 4]
(2) 45]
(3) 5]
(4) 55]

400 g T i U 1ie ford H 8| 78 Uk =el o F=2 £ (A H) % Y9E H -3 = 319 i qeey

1
A | G o G0 T t=(3)3 s H g W fomam e s #n g ?

(1) 4]
(2) 45]
3 3]
(4) 55]
Options:-

«1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

A thin uniform rod of mass M has a length 2 L. Two small solid spheres each of mass M, radius
R(<<L) are attached at the ends of the rod. The moment of inertia of system about an axis

perpendicular to length of rod at a distance (%) from one end is :

o (o (3o

& 12
@ (s + (e
o (s + ()
@ (she + (G
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fordt daell TREHH 9 # geAHF M ad s 2L 81 M geaHE a91 5 R(<<L) & &1 Bl T 98 &
formrll wsie 3 ¥ 1 w5 % e i & (L) 2 g o oo o e e & ufi: Frere o sre

EICUEE

o e e
o (g (T
o (g (e
o [ (e

Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
« 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Two spheres A and B have radii 2 R and 3 R, respectively. Each sphere has a charge Q=73 mey R.
The two are connected to one another via a battery as shown in figure. In equilibrium Q, and Qp

are charges on A and B. We have (Q% )
B

39
34
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A 3R B &I Tl i AR shHE: 2R SR3 R §1 Hedsh 7ol W SEa Q=73 ey R Bl A S Tiied Ueh g8
Y foa o <o TR T de § wete fohd o ¥ 1 wrEasen § A SR B W

B——®

2V

ST FA: Q, IR Q T [Q%B] = HH F1 R

(1) 1
y U
5 B
(“) 39

39
@ 31
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
« 3, Option ID :- 699,

« 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

A charged particle of mass m and charge q at origin of co-ordinates has a velocity ;S = Vg T cItis

accelerated by a uniform electric field

— A
E =Ej j

extending from x=0 to x=L. For x > L ; there is a uniform magnetic field

=2 #
B = BO !
Which one of the following statements is correct for motion of particle in region x > L ?
(1) Particle continues moving along X-axis.

(2) Particle moves in a circular path.

(8) Particle moves in a helix with axis of helix parallel to X-axis of radius [Eﬂ% v }
0o

(4) Particle moves in a helix having axis parallel to X-axis of radius (BGLE " ]
070
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Forgrit 3 Tefeg T RSN A Y g T T SRR FU B AT vy = v § §1 W E =Ey | ¥
THEITE R &9 50 x=0 ¥ x=L 7% @G fF S €1 x> L % fou uw whaam e &
B =By i %1 85 x> L ¥ forw, Frerffas weri § 9 37 @ o odt §7

(1) =01 X-3781 % eFfeer 7ifd sean &t S

(2) Y TH S UG T M HLA1 ¢ |

(3 = [EU%{,V )ﬁw%%ﬁw(g‘mﬁﬁ)ﬁwﬁrm%sﬁ%wa&r X318 % IR F |
0

(4) =W BOLEV TR 3 X-2A%1 o |HIT 31 arell sfcer (Fhefar!) o nfa #ar 21
00

Options:-

«1, Option ID :- 701,
= 2, Option ID :- 702,
» 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

In a region of space there is a magnetic field

— A
B = (By + ax)i

By and o are positive constants. The blocks of copper and aluminum are separately vertically
suspended in a vertical position by massless strings attached to a rigid support, in this magnetic

field. Which one of the following statements is correct ?

(1) Copper and aluminum blocks move towards (_':) and (':) respectively.
(2) Copper and aluminum blocks move towards (?) and (_’:) respectively.
(3) Both blocks move towards (_?)

(4) Both blocks move towards (+’;)
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(3) 2wt (_)) % smfew  wE #
(@) @it et (4] % s e et ¥

Options:-

=1, Option ID :- 705,
« 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178
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Response Sheet

Fig shows X-Y plane divided into three regions I, Il and III. There is no magnetic field in regions I
and II1. There is a uniform magnetic field _]3> = BE in region II. PQRS is a square coil of side [. At

t=0; end P of coil is at (=L, 0) and coil starts moving with a constant velocity ;=vi. g is
instantaneous induced e.m.f in coil. € vs x graph is :

E
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; o
-L 4L 5L
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Options:-

«1, Option ID :- 709,

eI

Response Sheet

*(2) Option ID 5- 7 10,
. 3, Option ID #7171,

= 4, Option ID :- 712,

Answer Given:- 4,

Option ID : -712

3L

4L
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Question ID:- 179

I‘O
A

—
—

~

.
-

LT Pl
bl S
.
amemm
-

-----

LiC=LGy 5 Ry =R,

LG>LG: R >R,
LG >0LG R <R,

Ly
G

Ly 1
CZ

Ry

Ly —C; =R, is a series circuit having an A.C. of r.m.s value E; and variable frequency (v)connected

across. L,—C, — R, is a second series circuit having an A.C. of r.m.s value E, (>E;) and variable
frequency connected across. Figure shows curves I and II for the two circuits, giving a plot of
amplitude of current (I,) in circuit versus v. Which of the followings is correct ?
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CHEo
1 2
Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180
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Figure shows an A.C circuit. P, is power consumed in circuit. Resistance R is replaced by an

)is:
2

inductor of reactance R. The power consumed in circuit is 13'2 . [P'l b

feost § us werad! 9 (A.C) wRtay <o e €| ufiny § =g 1 el el Py §) uftyy § wfadie R # R
P :
feeT % 3 & 9 9 W oW I P, £ [/Pz] FHAE :

1 1
@ (%)
® (%)

Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,
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= 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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